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1. Archegonium is
(a) Male reproductive organ

(b) Female reproductive organ

(c) Neither male nor female

(d) Zygote

2. Spore mother cell in bryophytes is :
(a) haploid (b) diploid 

(c) triploid (d) tetraploid

3. The main plant body of bryophytes is :
(a) Saprophyte

(b) Sporophyte

(c) Gametophyte 

(d) Both sporophyte and gametophyte

4. Which part of Riccia bear nurse cells :
(a) Antheridium

(b) Sporogonium

(c)  Egg cell

(d) Storage region (thallus)

5. To which class Riccia belongs :
(a) Sphenopsida (b) Hepaticopsida

(c) Bryopsida (d) Pteropsida

6. The sporophyte of Riccia is
represented by
(a) Foot, Seta and capsule

(b) Spore sac only

(c)  Foot and capsule

(d) Spores and foot

7. Inverted archegonia are found in :
(a) Polytrichum (b) Anthoceros

(c) Marchantia (d) Porella

8. Barrel shaped air pores are found in : 
(a) Marchantia (b) Riccia

(c) Pellia (d) Anthoceros

9. In Marchantia, the rhizoids are :
(a) Only smooth walled

(b) Only tuberculate

(c)  Smooth walled and tuberculate both

(d) None of the above
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1PRACTICE SET

1. Deeefke&âieesefveÙece nw
(a) vej peveve Debie
(b) ceeoe peveve Debie
(c) ve vej peveve Debie Deewj ceeoe peveve Debie 
(d) peeFieesš

2. yeÇeÙeesheâeFšdme ceW yeerpeeCeg ceele= keâesefMekeâe nw :
(a)  nwhueesF[ (b)  ef[hueesF[ 
(c)  efš^heueesF[ (d)  šsš^ehueesF[

3. yeÇeÙeesheâeFšdme keâe cegKÙe heeohe Mejerj nw :
(a) mewØeesheâeFš
(b) mheesjesheâeFš
(c) iewcesšesheâeFš
(d) mheesjesheâeFš Deewj iewcesšesheâeFš oesveeW

4. efjefkeämeÙee keâe keâewve mee Yeeie veme& keâesefMekeâeDeeW keâes
OeejCe keâjlee nw :
(a) SvLesefjef[Ùece
(b) mheesjesieesefveÙece
(c) Deb[e keâesefMekeâe
(d) Yeb[ejCe #es$e (Lewueme)

5. efjefkeämeÙee efkeâme keie& mes mebyebefOele nw:
(a) mheâsveesefhme[e (b) nshesefškeâesefhme[e
(c) yeÇeÙeesefhme[e (d) šsjesefhme[e

6. efjefkeämeÙee kesâ mheesjesheâeFš ceW neslee nw
(a) hegâš, meerše Deewj keâwhmetue
(b) kesâkeue yeerpeeCeg Lewueer
(c)  hegâš Deewj keâwhmetue
(d) yeerpeeCeg Deewj hegâš

7. Fvkeš&s[ Deeefke&âieesefveÙee heeÙee peelee nw :
(a) hee@ueerš^erkeâce (b) SvLeesmesjesme
(c) ceejkeWâefMeÙee (d) heesjsuee

8. yewjue kesâ Deekeâej kesâ keeÙeg efÚõ heeS peeles nQ:
(a) ceejkeWâefMeÙee (b) efjkeâefmeÙee
(c)  hesefueÙee (d) SvLeesmesjesme

9. ceejkeWâefMeÙee, ceW Øekeâbo nQ:
(a) kesâkeue efÛekeâveer oerkeej
(b) kesâkeue šŸetyejkegâuesš
(c)  efÛekeâveer melen Jeeues Je šÙetyejkegâuesš oesveeW
(d) GheÙe&gòeâ ceW mes keâesF& veneR



10. The capsule of Anthoceros elongates by
(a) Growth of seta

(b) Growth of pseudopodium

(c)  Meristematic growth of capsule base

(d) All of the above

11. In Anthoceros, the spore producing
layer originates from :
(a) Endothecium

(b) Amphithecium

(c) Columella

(d) Foot

12. An endophytic alga (Nostoc) is present
in the thallus of:
(a) Anthoceros (b) Porella

(c) Polytrictum (d) Marchantia

13. Elongated cylindrical sporongonium is 
seen in
(a) Anthoceros

(b) Polytrichum

(c) Marchantia

(d) Porella

14. Sphagnum is known as
(a) Peat moss (b) Club moss

(c)  Moss (d) None of above

15. Funaria plant is
(a) Prostrate and branched

(b) Prostrate and unbranched

(c)  Radial and branched

(d) Radial and unbranched

16. In Funaria, the leaves are:
(a) Spirally arranged and each leaf has

a single branched nerve

(b) Spirally arranged and each leaf has
a single unbranched nerve

(c) Arranged in 2-4 rows and each leaf
has single unbranched nerve

(d) Arranged in 2-4 rows and each leaf
has single branched nerve

17. Use of Sphagnum is in
(a) Horticulture (b) Zoology

(c) Animal husbandry (d) Fishing
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10. SvLeesmesjesme kesâ keâwhmetue ceW Je=efæ nesleer nw
(a) mesše keâer ke=efæ
(b) mÙet[esheesef[Ùece keâer ke=efæ
(c) keâwhmetue yesme keâer efkeYepÙeeslekeâ ke=efæ
(d) Ghejesòeâ meYeer

11. SveLeesmesjesme ceW, yeerpeeCeg Glheeokeâ hejle keâer Glheefòe 
nesleer nw:
(a) Sb[esLesefMeÙece mes (b) ScheâerLesefMeÙece mes
(c) keâesuegcesuee mes (d) hegâš mes

12. Skeâ Sb[esheâeFefškeâ Mewkeeue efkeâmekesâ Lewueme ceW ceewpeto 
nw:
(a) SvLeesmesjesme (b) heesjsuee
(c) hee@ueerefš^keäce (d) ceejkeWâefMeÙee

13. uecyeer yesueveekeâej mheesjeWieesefveÙece heeÙeer peeleer nw
(a) SbLeesmesjesme (b) hee@ueerefš^Ûece
(c) ceÛeXefšÙee (d) heesjsuee

14. mhewâievece kesâ ™he ceW peevee peelee nw
(a) heerš cee@me 
(b) keäueš cee@me
(c)  cee@me 
(d) Ghejesòeâ ceW mes keâesF& veneR

15. HeâÙetvesefjÙee keâe heewOee nw
(a) Øeesmš^sš Deewj MeeefKele
(b) Øeesmš^sš Deewj DeMeeefKele
(c)  jsef[Ùeue Deewj MeeefKele
(d) DejerÙe Deewj DeMeeefKele

16. HeâÙetvesefjÙee  ceW, heefòeÙeeb nQ:
(a) meefhe&ue ™he mes kÙekeefmLele Deewj ØelÙeskeâ heòeer ceW 

Skeâ MeeefKele lebef$ekeâe nesleer nw
(b) meefhe&ue ™he mes kÙekeefmLele Deewj ØelÙeskeâ heòeer ceW 

Skeâ Skeâue DeMeeefKele lebef$ekeâe nesleer nw /
(c)  2-4 hebefòeâÙeeW ceW kÙekeefmLele Deewj ØelÙeskeâ heòeer

ceW Skeâue DeMeeefKele lebef$ekeâe nesleer nw
(d)  2-4 hebefòeâÙeeW ceW kÙekeefmLele Deewj ØelÙeskeâ heòeer

ceW Skeâue MeeefKele lebef$ekeâe nesleer nw

17. mheâsivece keâe ØeÙeesie neslee nw
(a) yeeiekeeveer ceW
(b) petuee@peer ceW
(c) heMegheeueve ceW
(d) celmÙe heeueve ceW



18. Pteridophytes differ from bryophytes
in having :
(a) Motile sperms

(b) Altemation of generation

(c)  Archegonia

(d) Vascular tissue

19. Spores of pteridophytes are:
(a) Haploid (b) Diploid

(c)  Triploid (d) Tetraploid

20. Rhynia was discovered by
(a) Birbal Sahni (b) Arnold

(c)  Kidston and Lang (d) Smith

21. Rhynia belongs to a geological period
called :
(a) Carboniferous (b) Permean

(c)  Devonian (d) Cambrian

22. The stele present in Rhynia was:
(a) Protostele (b) Siphonostele

(c) Solenostele

23. Rhynia was :
(a) Homosporous

(b) Heterosporous

(c)  Both homorporous and
heterosporous

(d) None of the above

24. In Rhynia sporangia were present on:
(a) Terminal (b) At base

(c)  At Rhizome (d) None of these

25. Spores of pteridophytes are:
(a) Haploid (b) Diploid

(c)  Triploid (d) Tetraploid

26. Heterospory means presence of :
(a) One type of spores 

(b) Two types of spores

(c)  Three types of spores

(d) None of these

27. Heterospory is found in:
(a) Selaginella (b) Marsilea

(c)  Isoetes (d) All of these

28. Spike moss is common name of :
(a) Lycopodium (b) Selaginella

(c)  Adiantum (d) Pteris
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18. šsefj[esheâeFšdme yeÇeÙeesheâeFšdme mes efYeVe nesles nQ
keäÙeeWefkeâ FveceW heeÙee peelee nw:
(a) Ûeue Meg›eâeCeg
(b) heerÌ{er keâe SkeâevlejCe
(c) Deeefke&âieesefveÙee
(d) mebkenveer Tlekeâ

19. šsefj[esheâeFšdme kesâ yeerpeeCeg nQ:
(a) nwhueesF[ (b) ef[hueesF[
(c) efš^heueesF[ (d) šsš^ehueesF[

20. jeFefveÙee keâer Keespe efkeâmekesâ Éeje keâer ieF& Leer
(a) yeerjyeue meenveer (b) Devee&su[
(c) efkeâ[mšve Deewj ueQie (d) efmceLe

21. jeFefveÙee Yetkew%eeefvekeâ keâeue mes mebyebefOele nw:
(a) keâeyee&sefveheâsjme (b) hejceerÙeve
(c) [skeesefveÙeve (d) keâwefcyeÇÙeve

22. jeFefveÙee ceW ceewpeto mšerue Lee:
(a) Øeesšesmšerue (b) meeFheâesveesmšerue
(c) meesuesveesmšerue (d) mšerue

23. jeFefveÙee Leer :
(a) nesceesmheesjme (meceyeerpeeCegkeâ)
(b) nsšsjesmheesjme (efJe<ece yeerpeeCegkeâ)
(c) mece™he Deewj efke<ece yeerpeeCeg oesveeW
(d) GheÙe&gòeâ ceW mes keâesF& veneR

24. jeFefveÙee keâer yeerpeeCegOeeveer heeÙeer peeleer nw:
(a) šefce&veue (b) DeeOeej hej
(c) Øekeâbo hej (d) FveceW mes keâesF& veneR

25. šsefj[esheâeFšdme kesâ yeerpeeCeg nQ:
(a) nwhueesF[ (b) ef[hueesF[
(c)  efš^heueesF[ (d) šsš^ehueesF[

26. nsšsjesmheesjer keâe DeLe& nw GheefmLeefle:
(a) Skeâ Øekeâej kesâ yeerpeeCeg
(b) oes Øekeâej kesâ yeerpeeCeg
(c) leerve Øekeâej kesâ yeerpeeCeg
(d) FveceW mes keâesF& veneR

27. nsšsjesmheesjer heeÙee peelee nw:
(a) mesueeefpevesuee ceW (b) ceeefme&efueÙee ceW
(c) DeeFmeesmesšdme ceW (d) Ùes meYeer ceW

28. mheeFkeâ cee@me keâe meeceevÙe veece nw :
(a) ueeFkeâesheesef[Ùece keâe (b) mesueeefpevesuee keâe
(c) Sef[Ùeve[ce keâe (d) šsefjme keâe



29. Leaves of which plant have Ligule :
(a) Selaginella (b) Lycopodium

(c) Isoetes (d) Psilotum

30. Equisetum is commonly called as: 
(a) Clubmoss (b) Horse tail

(c)  Spike moss (d) Stone wort

31. Simple collateral vascular bundles are
found in :
(a) Equisetum (b) Lycopodium

(c) Rhynia (d) Selaginella

32. Sporangia develop in Equisetum on :
(a) Upper surface of sporophylls

(b) Sporangiophores

(c) Vegetative leaves

(d) Lower surface of sporophylls

33. Gymnosperms differ from
angiosperms in :
(a) Presence of naked seeds and lack of 

vessels

(b) Presence of seeds and vessels

(c)  Having abortive seeds

(d) Hav ing tra cheids

34. Xylem of gymnosperm lacks:
(a) Tracheids

(b) Xylem parenchyma

(c)  Xylem fibres (d) Vessels

35. Endosperm in gymnosperm is formed:
(a) At the time of fertilisation

(b) Before fertilisation

(c) After fertilisation

(d) Along with development of embryo

36. Monoxylic wood is found in:
(a) Cycas (b) Pinus

(c) Ephedra (d) Gnetum

37. Which is knwon as “Sago-Palm”:
(a) Cycas (b) Pinus

(c) Gnetum (d) Ginkgo

38. A blue green alga lives in :
(a) Riccia thallus

(b) Marchantia thallus

(c) Cycas roots 

(d) Pinus roots
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29. efkeâme heewOes keâer heefòeÙeeW ceW efueiÙegue neslee nw :
(a) mesueeefpevesuee (b) ueeFkeâesheesef[Ùece
(c) DeeFmeesšsme (d) meeFueesšce

30. Fefkeäkemesšce keâes Deeceleewj hej keâne peelee nw
(a) keäueye cee@me (b) ne@me& šsue
(c) mheeFkeâ cee@me (d) mšesve keesš&

31. mejue mebheeefÕe&keâ mebkenveer yeb[ue heeS peeles nQ:
(a) Fefkeäkemesšce ceW (b) ueeFkeâesheesef[Ùece ceW
(c) jeFefveÙee ceW (d) mesueeefpevesuee ceW

32. Fefkeäkemesšce ceW mheesjbefpeÙee efkekeâefmele nesleer nw:
(a) mheesjesefheâue keâer Thejer melen hej
(b) mheesjQefpeÙeesheâesjme hej
(c)  keâeefÙekeâ heòeer hej
(d) mheesjesefheâue keâer efveÛeueer melen hej

33. efpecveesmhece&, DeeJe=òeyeerpeerÙeeW mes efYeVe nesles nQ:
(a) veive yeerpeeW keâer GheefmLeefle Deewj mebJenve veefuekeâe 

keâer keâceer
(b) yeerpe Deewj mebJenve veefuekeâe keâer GheefmLeefle
(c) efve<heâue yeerpe nesvee
(d) š^sefkeâ[dme nesvee

34. efpecveesmhece& kesâ peeFuece ceW keâceer nesleer nw :
(a) š^sefkeâ[dme keâer
(b) peeFuece hewjsvkeâeFcee keâer
(c) peeFuece heâeFyej keâer
(d) peeFuece Jesefmeue (mebnve veefuekeâeDeeW) keâer

35. Deveeke=leyeerpeer ceW YeÇtCehees<e yevelee nw :
(a) efve<esÛeve kesâ meceÙe
(b) efve<esÛeve mes henues
(c) efve<esÛeve kesâ yeeo
(d) YeÇtCe kesâ efkekeâeme kesâ meeLe

36. ceesvees peeFefuekeâ keâe<š heeÙeer peeleer nw
(a) meeFkeâme ceW (b) heeFveme ceW
(c) Sheâs[^e ceW (d) vesšce ceW

37. efkeâmes ‘meeiees-heece’ kesâ veece mes peevee peelee nw:
(a) meeFkeâme (b) heeFveme
(c)  vesšce (d) efpevkeâiees

38. veeruee nje Mewkeeue jnlee nw :
(a) efjefkeämeÙee kesâ Lewueme mes
(b) ceejkeWâefMeÙee kesâ Lewueme mes
(c) meeFkeâme keâer peÌ[eW ceW
(d) heeFveme keâer peÌ[eW ceW



39. Spermatozoids large enough to be seen 
by naked eyes are produced in :
(a) Cycas revoluta 

(b) Pinus roxburghii

(c) Gnetum ula 

(d) Ginkgo biloba

40. Anatomical features of the Cycas
leaflet indicate that Cycas is a :
(a) Xerophyte (b) Mesophyte

(c) Gymnosperm (d) Conifer

41. What could be the best function
attributed to the transfusion tissue
seen in Cycas leaflets :
(a) Mechanical (b) Photosynthetic

(c) Conduction (d) Storage

42. The ovuliferous scale of Pinus is a part
by:
(a) Megasporophyll

(b) Microsporophyll

(c) Ovule

(d) Dwarf shoot

43. The wing on the seed of Pinus is
developed from: 
(a) Integument

(b) Carpellary scale

(c)  Ovuliferous scale

(d) None of these

44. The mesophyll tissue in Pinus is called
(a) Parenchyma

(b) Chlorenchyma

(c)  Transfusion tissue

(d) Spongy parenchyma

45. Mycorrhiza is found in: 
(a) Cycas (b) Pinus

(c) Ephedra (d) None of these

46. Shedding of pollen grains in Pinus
takes place at:
(a) 2-celled stage (b) 3-celled stage

(c)  4-celled stage (d) 5-celled stage

47. Winged pollen grains are found in :
(a) Cycas (b) Pinus

(c) Ephedra (d) None of these

5
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39. veive DeeBKeeW mes osKes peeves kesâ efueS heÙee&hle yeÌ[s
mhece&sšesÌpeesF[dme GlheVe nesles nQ:
(a) meeFkeâme efjkeesuegše (b) heeFveme je@keämeyeieer&
(c) veeršce Guee (d) efpevkeâiees efyeueesyee

40. meeFkeâme he$ekeâ keâer mebjÛeveelcekeâ efkeMes<eleeSb Fbefiele
keâjleer nQ efkeâ meeFkeâme Skeâ nw:
(a) peerjesheâeFš (b) cesmeesheâeFš
(c) Deveeke=leyeerpeer (d) keâesefveheâj

41. meeFkeâme he$ekeâ ceW osKes ieS DeeOeeve Tlekeâ keâe
meyemes DeÛÚe keâeÙe& keäÙee nes mekeâlee nw:
(a) Ùeebef$ekeâ (b) ØekeâeMe mebMues<ekeâ
(c)  Ûeeueve (d) Yeb[ejCe

42. heeFveme keâe yeerpeeb[ mkesâue efkeâmekeâe Skeâ Yeeie nw:
(a) cesieemheesjesefheâue
(b) ceeF›eâesmheesjesefheâue
(c) yeerpeeC[
(d) [Jeehe&â Metš

43. heeFveme kesâ yeerpe hej hebKe efkeâmemes efkekeâefmele neslee
nw:
(a) DeOÙeeJejCe
(b) keâehe&suejer mkesâue
(c) yeerpeeC[ mkesâue
(d) FveceW mes keâesF& veneR

44. heeFveme ceW heCe&ceOÙeeslekeâ Tlekeâ keânueelee nw
(a) hewjsvkeâeFcee
(b) keäueesjsvkeâeFcee
(c) DeeOeeve Tlekeâ
(d) mhebpeer hewjsvkeâeFcee

45. ceeFkeâesjeFpee heeÙee peelee nw:
(a) meeFkeâme ceW (b) heeFveme ceW
(c) Sheâs[^e ceW (d) FveceW mes keâesF& veneR

46. heeFveme ceW hejeiekeâCeeW keâe hejeieCe neslee nw:
(a)  2-keâesefMekeâe ÛejCe ceW
(b)  3-keâesefMekeâe ÛejCe ceW
(c)  4-keâesefMekeâerÙe DekemLee ceW
(d) 5-keâesefMekeâerÙe DekemLee ceW

47. hebKe keeues hejeiekeâCe heeS peeles nQ:
(a) meeFkeâme ceW
(b) heeFveme ceW
(c) Sheâs[^e ceW
(d) FveceW mes keâesF& veneR



48. Polyembryony is found in :
(a) Pinus (b) Cycas

(c) Gnetum (d) All of these

49. Pinus is .............. 
(a) Monoecious (b) Dioecious

(c) Antoecious (d) Heteroecious

50. Deepest situated ovule is found in:
(a) Cycas (b) Pinus

(c) Ephedra (d) None of these

51. Fleshy bract is found over the seed of:
(a) Cycas (b) Ephedra

(c) Pinus (d) All of these

52. Jointed stem is found in :
(a) Pinus (b) Cycas

(c) Ginkgo (d) Ephedra

53. Drug ephedrine is obtained from :
(a) Ephedra (b) Cycas

(c) Pinus (d) Gnetum

54. ln Ephedra pollination takes place at:
(a) 2-celled stage (b) 3-celled stage

(c)  4-celled stage (d) 5-celled stage

55. Coal formation occurs in:
(a) Carboniferous period

(b) Devonian

(c) Silurian

(d) Cambrian

56. The origin of Angiosperms occurs in :
(a) Jurassic (b) Cretaceous

(c)  Triassic (d) Permean

57. Birbal Sahani Institute of
Palaeobotany is situated in:
(a) Delhi (b) Lucknow

(c) Dehradun (d) Benglore

58. Which of the following is the oldest era:
(a) Cenozoic (b) Precambrian

(c)  Mesozoic (d) Paleozoic

59. Conifers and Cycads developed in:
(a) Triassic 

(b) Jurassic

(c) Cretaceous

(d) Devonian

6
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48. yengYeÇtCelee heeÙeer peeleer nw :
(a) heeFveme ceW (b) meeFkeâme ceW
(c) vesšce ceW (d) Ùes meYeer

49. heeFveme  nw ...........
(a) ceesveesefmeÙeme (b) [eF&DeesefmeÙeme
(c) SvšsefmeÙeme (d) efke<eceueQefiekeâ

50. meyemes ienje efmLele yeerpeeb[ heeÙee peelee nw:
(a) meeFkeâme ceW (b) heeFveme ceW
(c) Sheâs[^e ceW (d) FveceW mes keâesF& veneR

51. ceebmeue menhe$e efkeâmekesâ yeerpe kesâ Thej heeÙee peelee
nw:
(a) meeFkeâme kesâ (b) Sheâs[^e kesâ
(c) heeFveme kesâ (d) Ùes meYeer

52. mebÙegòeâ levee heeÙee peelee nw :
(a) heeFveme ceW (b) meeFkeâme ceW
(c) efpevkeâiees ceW (d) Sheâs[^e ceW

53. Fheâsef[^ve Øeehle efkeâÙee peelee nw:
(a) Sheâs[^e mes (b) meeFkeâme mes
(c) heeFveme mes (d) vesšce mes

54. Sheâs[^e ceW hejeieCe neslee nw:
(a)  2-keâesefMekeâe ÛejCe (b)  3-keâesefMekeâe ÛejCe
(c)  4-keâesefMekeâe ÛejCe (d)  5-keâesefMekeâe ÛejCe

55. keâesÙeues keâe efvecee&Ce ngDee nw:
(a) keâeyee&sefveheâsjme DekeefOe ceW
(b) [skeesefveÙeve ceW
(c) efmeuÙetefjÙeve ceW
(d) keâwefcyeÇÙeve ceW

56. SbefpeÙeesmhece& keâer Glheefòe ngF& nw:
(a) pegjeefmekeâ ceW (b) ›eâsšsefMeÙeme ceW
(c) š^eFefmekeâ ceW (d) hejceerÙeve ceW

57. yeerjyeue meenveer hegjekevemheefle efke%eeve mebmLeeve
efmLele nw:
(a) efouueer (b) ueKeveT
(c) osnjeotve (d) yeQieueesj

58. efvecve ceW mes keâewve mee meyemes hegjevee Ùegie nw:
(a) mesveespeesFkeâ (b) ØeerkeâwefcyeÇÙeve
(c) cesmeesÌpeesFkeâ (d)  hewefueÙeesÌpeesFkeâ

59. keâesefveheâme& Deewj meeFkeâw[dme efkekeâefmele ngS:
(a) š^eFefmekeâ ceW (b) pegjeefmekeâ ceW
(c) ›eâeršsefMeÙeme ceW (d) [skeesefveÙeve ceW



60. Which plant bears hygroscopic roots :
(a) Bryophyllum (b) Vanda

(c) Cuscuta (d) Rhizophora

61. Which type of root is found in Mirabilis
jalapa:
(a) Respiratory (b) Tuberous

(c)  Reproductive (d) Fasciculated

62. Which plant bears clinging roots :
(a) Screw pine

(b) Podostemon

(c) Orchid

(d) Trapa

63. Which plant has nodulated roots :
(a) Mango

(b) Monotrapa

(c) Arachis hypogea

(d) Banyan

64. Plerome gives rise to :
(a) Epidermis (b) Cortex

(c) Vascular tissue (d) Ground tissue

65. The elongated, thick-walled and
tapering cells are :
(a) Parenchymatous

(b) Sclerenchymatous

(c) Collenchymatous

(d) Aerenchymatous

66. Casparian strips are found in the
radial walls of :
(a) Pith cells

(b) Epidermal Cells

(c)  Hypodermal cells

(d) Endodermal cells

67. A.T.S. of monocot stem can be
distinguished from that of a dicot stem
observing the :
(a) Vascular bundles which are

scattered in monocot stems

(b) Sunken stomata

(c)  Cortex

(d) Concentric vascular bundles
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60. efkeâme heewOes ceW neF«eesmkeâesefhekeâ peÌ[W nesleer nQ:
(a) yeÇeÙeesefheâuece (c) keeb[e
(b) kegâmkegâše (d) jeFpeesheâesje

61. efcejeefyeefueme peeuehee ceW efkeâme Øekeâej keâer peÌ[ heeF&
peeleer nw:
(a) MJemeve (b) šŸetyejme
(c) Øepeveve (d) Deekeâ<e&keâ

62. efkeâme heewOes keâer peÌ[W efÛehekeâer jnleer nQ :
(a) m›eât heeFve
(b) hees[esmšscee@ve
(c) Deeefke&â[
(d) š^whee

63. efkeâme heewOes keâer peÌ[W ieeb"oej nesleer nQ :
(a) Deece
(b) ceesveesš^ehee
(c) DejefÛeme neFheesefieÙee
(d) yejieo

64. huesjesce GlheVe keâjlee nw :
(a) Sefhe[efce&me (b) keâe@š&skeäme
(c) mebkenveer Tlekeâ (d) «eeGb[ Tlekeâ

65. uecyeer, ceesšer-efYeefòe keeueer Deewj šsheefjbie
keâesefMekeâeSB nQ:
(a) ce=otlekeâ
(b) mkeäuesjsvkeâeFceešme
(c) keâesuesvekeâeFvesšme
(d) SjsvkeâeFcesšme

66. keâwmhesefjÙeve heefóÙeeb efkeâmekeâer jsef[Ùeue oerkeejeW ceW
heeF& peeleer nQ:
(a) efheLe keâesefMekeâeSb
(b) Sefhe[ce&ue keâesefMekeâeSb
(c) neFhees[ce&ue keâesefMekeâeSb
(d) Sb[es[ce&ue keâesefMekeâeSb

67.  Skeâyeerpehe$eer leves keâer T. S. efÉyeerpehe$eer leves keâer
T. S.  mes efkeâme Øekeâej Deueie nesleer nw:
(a) mebkenveer yeb[ue pees ceesveeskeâe@š leveeW ceW efyeKejs

ngS nQ
(b) OeBmee jbOeÇ
(c)  keâe@š&skeäme
(d) mebkesâefvõle mebkenveer yeb[ue



68. In dicot stems, vascular bundles are:
(a) Scattered

(b) Arranged in a ring

(c) Xylem and phloem are situated
alternately

(d) Amphicribral

69. Plerome gives rise to : 
(a) Epidermis (b) Cortex

(c) Vascular tissue (d) Ground tissue

70. The elongated, thick-walled and
tapering cells are :
(a) Parenchymatous (b) Sclerenchymatous

(c)  Collenchymatous (d) Aerenchymatous

71. The annual ring is formed of :
(a) Spring Wood 

(b) Autumn wood

(c) Spring and autumn wood 

(d) None of these

72. Brick-shaped, suberized cells lying
outside the active cork cambium of a
plant form:
(a) Secondary cortex (b) Phellem

(c) Epidermis (d) Endodermis

73. The tapetal cells are :
(a) Haploid (b) Diploid

(c) Polyploid (d) Triploid

74. The integumentary outgrowth present
at micropylar end of castor seed is :
(a) Obturator (b) Aril
(c)  Caruncle (d) None of these

75. Pollen grains of wind pollinated
flowers are :
(a) large and showy (b) light in colour

(c)  light in weight (d) sticky
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68. efÉyeerpehe$eer leveeW ceW, mebkenveer yeb[ue nesles nQ:
(a) efyeKejs ngS
(b) Skeâ Iesjs ceW kÙekeefmLele
(c) peeFuece Deewj heäueesSce kewkeâefuhekeâ ™he mes

efmLele nesles nQ
(d) GYeÙeÛej

69. huesjesce GlheVe keâjlee nw :
(a) Sefhe[efce&me (b) keâe@š&skeäme
(c) mebkenveer Tlekeâ (d) «eeGb[ Tlekeâ

70. uecyeer, ceesšer-efYeefòe keeueer Deewj šsheefjbie
keâesefMekeâeSB nQ:
(a) ce=otlekeâ (b) mkeäuesjsvkeâeFcesšme
(c) keâesuesvekeâeFcesšme (d) SjsvkeâeFcesšme

71. keeef<e&keâ keueÙe yevelee nw :
(a) efmØebie keg[ mes
(b) Mejo $e+leg keâer uekeâÌ[er mes
(c) kemeble Deewj Mejo $e+leg keâer uekeâÌ[er mes
(d) FveceW mes keâesF& veneR

72. heewOes kesâ meef›eâÙe keâe@ke&â keâwefcyeÙece kesâ yeenj efmLele
megyesjerke=âle keâesefMekeâeSB efkeâmekeâe efvecee&Ce keâjleer nQ:
(a) ceeOÙeefcekeâ keâe@š&skeäme (b) heâsuesce
(c) Sefhe[efce&Me (d) Sb[es[efce&Me

73. šsheeršue keâesefMekeâeSb nQ:
(a) nwhueesF[ (b) ef[hueesF[
(c) hee@ueerhueesF[ (d) efš^heueesF[

74. Sjb[ kesâ yeerpe kesâ yeerpeeb[Éejer efmejs hej GheefmLele
DeOÙeekejCeerÙe yeefnŠke=efæ nw :
(a) Øemeteflekeâlee& (b) Sefjue
(c)  keâe®vekeâue (d) FveceW mes keâesF& veneR

75. keeÙeg Éeje hejeefiele hejeiekeâCe nesles nQ:
(a) yeÌ[e Deewj efoKeekešer (b) jbie ceW nukeâe
(c) kepeve ceW nukeâe (d) efÛeheefÛehee

Answers

1. (b) 2. (b) 3. (c) 4. (b) 5. (b) 6. (b) 7. (c) 8. (a) 9. (c) 10. (c)

11. (b) 12. (a) 13. (a) 14. (a) 15. (c) 16. (b) 17. (a) 18. (d) 19. (a) 20. (c)

21. (c) 22. (a) 23. (a) 24. (a) 25. (a) 26. (b) 27. (d) 28. (b) 29. (a) 30. (b)

31. (a) 32. (b) 33. (a) 34. (d) 35. (b) 36. (a) 37. (a) 38. (c) 39. (a) 40. (a)

41. (c) 42. (a) 43. (c) 44. (a) 45. (b) 46. (c) 47. (b) 48. (a) 49. (a) 50. (c)

51. (b) 52. (d) 53. (a) 54. (d) 55. (a) 56. (b) 57. (b) 58. (b) 59. (a) 60. (b)

61. (b) 62. (c) 63. (c) 64. (c) 65. (b) 66. (d) 67. (a) 68. (b) 69. (c) 70. (b)

71. (c) 72. (b) 73. (c) 74. (c) 75. (c)



1. Neck canal cells occur in
(a) Antherozoites (b) Zygote

(c) Archegonium (d) Male cone

2. Bryophytes prefer to grow: 
(a) in dry soils

(b) in water

(c) on dry rocks

(d) at moist and shady places

3. The sporophyte of Riccia is:
(a) Photoautotrophic

(b) Total parasite

(c) Semiparasite 

(d) Saprophytic

4. Rhizoids of Riccia are
(a) Unicellular, smooth walled and

tuberculate

(b) Unicellular and smooth walled only

(c) Unicellular and tuberculate only

(d) Multicellular with oblique septa

5. Thallus of Riccia is in rosette form and
.......... divided.
(a) Monochotomons (b) Dichotomons

(c) Polychotomous (d) None of these

6. Antherozoids of Riccia are ........ ..
(a) Biflagellate (b) Uniflagellate

(c) Quadriflagellate (d) Multiflagellate

7. Which is aquatic species of Riccia ........
(a) R. crystallina (b) R. discolor

(c) R. fluitans (d) R. himalayensis

8. Among bryophytes which have
simplest sporophyte ........ ..
(a) Riccia (b) Marchantia

(c) Anthoceros (d) Funaria

9. In an archegonium which cell is
situated above the egg cell ........ ..
(a) Neck canal cell

(b) Venter canal cell

(c) Neck cell 

(d) Cover cell
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1. veskeâ keâwveeue keâesefMekeâeSB nesleer nQ
(a) SLejesÌpeesFšdme (b) peeFieesš
(c) m$eerOeeveer (d) vej Mebkegâ

2. yeÇeÙeesheâeFšdme meeceevÙeleÙee heeÙes peeles nw:
(a) metKeer efceóer ceW
(b) heeveer ceW
(c) metKeer ÛeóeveeW hej
(d) vece Deewj ÚeÙeeoej mLeeveeW hej

3. efjefkeämeÙee keâe mheesjesheâeFš nw:
(a) heâesšesDee@šesš^e@efÌHeâkeâ
(b) hetCe& hejpeerkeer
(c) mesceerhewjemeeFš
(d) mewØeesheâeFefškeâ

4. efjefkeämeÙee kesâ Øekeâbo nesles nQ
(a) SkeâkeâesefMekeâerÙe, efÛekeâveer efYeefòe Jeeues Deewj

šÙetyejkegâuesefš[
(b) kesâkeue SkeâkeâesefMekeâerÙe leLee efÛekeâveer efYeefòe

keeues
(c) kesâkeue SkeâkeâesefMekeâerÙe Deewj šÙetyejkegâuesefš[
(d) eflejÚs heš kesâ meeLe yengkeâesefMekeâerÙe

5. efjefkeämeÙee keâe Lewueme jesmesš ™he ceW neslee nw Deewj
........ efkeYeeefpele neslee nw~
(a) ceesveeskeâesšesceme (b) [eF&keâesšesceme
(c) hee@ueerkeâesšesceme (d) FveceW mes keâesF& veneR

6. efjefkeämeÙee kesâ SLesjesÌpeesF[dme nQ .........
(a) yeeFheäuewpesuesš (b) Ùetefveheäuewpesuesš
(c) keäkeeef[^heäuewpesuesš (d) ceušerheäuewpesuesš

7. efjefkeämeÙee keâer peueerÙe Øepeeefle keâewve meer nw .........
(a) Deej ef›eâmšefuevee (b) Deej ef[mkeâesuej
(c) Deej heäuetševme (d) Deej. efnceeueÙeWefmeme

8. yeÇeÙeesheâeFšdme ceW efkeâmekeâe meyemes mejue mheesjesheâeFš 
neslee nw..........
(a) efjkeâefmeÙee (b) ceekeXâefMeÙee
(c) SvLeesmesjesme (d) heäÙetvesefjÙee

9. Skeâ m$eerOeeveer efpemekeâer keâesefMekeâe DeC[ keâesefMekeâe
kesâ Thej efmLele nesleer nw..........
(a) veskeâ kesâveeue mesue (b) Jewš^ue keâwveeue mesue
(c) veskeâ mesue (d) keâkej mesue



10. Which has primitive type of
sporogonium ........ ..
(a) Anthoceros (b) Marchantia

(c) Funaria (d) Riccia

11. In Marchantia, the chloroplast is : 
(a) cup shaped (b) disc shaped

(c) star shaped (d) ribbon shaped

12. In Anthoceros the meristematic tissue
is present :
(a) At the apex of sporogonium

(b) At the base of sporogonium above
foot

(c) In the middle of sporogonium

(d) None of the above

13. In Anthoceros the sporogenous tissue is 
derived from :
(a) Amphithecium

(b) Endothecium

(c) Gametophytic tissue

(d) Columella

14. Stomata are present on capsule wall
of:
(a) Riccia (b) Marchantia

(c) Anthoceros (d) Funaria

15. The sporophyte grows continuously
for a long period due to basal meristem 
in :
(a) Riccia (b) Marchantia

(c) Anthoceros (d) Funaria

16. Pseudoelaters are found in the
sporophyte of:
(a) Riccia (b) Marchantia

(c) Funaria (d) Anthoceros

17. High capacity of water absorption is in
(a) Sphagnum (b) Riccia

(c) Funaria (d) Marchantia

18. Male gametes of Funaria are :
(a) Multiflagellate much coiled

(b) Multiflagellate having about 1
1

2
 coil

(c) Biflagellate much coiled

(d) Biflagellate having about 1
1

2
 coil
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10. efpemeceW Deeefoce Øekeâej keâe mheesjesieesefveÙece neslee nw
.........
(a) SbLeesmesjesme (b) ceejkeWâefMeÙee
(c) heäÙetvesefjÙee (d) efjefkeämeÙee

11. ceekeXâefMeÙee ceW, keäueesjeshueemš neslee nw:
(a) keâhe kesâ Deekeâej keâe
(b) ef[mkeâ kesâ Deekeâej keâe
(c) leejs kesâ Deekeâej keâe
(d) efjyeve kesâ Deekeâej keâe

12. SbLeesefmejesme ceW efkeYepÙeeslekeâ Tlekeâ GheefmLele neslee
nw :
(a) mheesjesieesefveÙece kesâ Meer<e& hej
(b) hegâš kesâ Thej mheesjesieesefveÙece kesâ DeeOeej hej
(c) mheesjesieesefveÙece kesâ yeerÛe ceW
(d) GheÙe&gòeâ ceW mes keâesF& veneR

13. SbLeesmesjesme ceW mheesjespesveme Tlekeâ mes Øeehle neslee nw:
(a) ScheâerLesefMeÙece
(b) Sb[esLesefMeÙece
(c) iewcesšesheâeFefškeâ Tlekeâ
(d) keâesuegcesuee

14. jbOeÇ keâwhmetue keâer oerkeej hej ceewpeto nesles nQ:
(a) efjkeâefmeÙee (b) ceÛeXefšÙee
(c) SvLeesmesjesme (d) heäÙetvesefjÙee

15. yesmeue cesefjmšsce kesâ keâejCe mheesjesheâeFš uebyeer
DekeefOe kesâ efueS ueieeleej yeÌ{lee nw:
(a) efjkeâefmeÙee (b) ceekeXâefMeÙee
(c) SvLeesmesjesme (d) heäÙetvesefjÙee

16. mÙet[esFuesšme& efkeâme mheesjesheâeFš ceW heeS peeles nQ:
(a) efjkeâefmeÙee (b) ceekeXâefMeÙee
(c) heäÙetvesefjÙee (d) SbLeesmesjesme

17. peue DekeMees<eCe keâer GÛÛe #ecelee nesleer nw
(a) mhewâievece (b) efjefkeämeÙee
(c) heäÙetvesefjÙee (d) ceekeXâefMeÙee

18. heäÙetvesefjÙee kesâ vej Ùegicekeâ nQ:
(a) ceušerheäuewieuesš yengle kegâb[efuele

(b) 1
1

2
 keâesFue kesâ meeLe ceušerheäuespesuesš

(c) efÉkeâMeeefYekeâe yengle kegâC[efuele nesleer nw

(d) efÉkeâMeeefYekeâe efpemeceW 1
1

2
 kegâb[ueer nesleer nw



19. Vascular cryptogams are:
(a) Pteridophyte (b) Bryophyte

(c) Algae (d) Fungi

20. On Rhynia structures present were :
(a) Leaves (b) Buds

(c) Hairs (d) None

21. In Rhynia sporangia are develops:
(a) Terminally and top of shoot

(b) Terminally and inside of shoot

(c) Laterally and top of shoot

(d) Laterally and inside of shoot

22. How were the Rhynia name formed
(a) On the name of scientist

(b) It was discovered in Place Rhynie

(c) It is a suitable name for this one

(d) It was scientist choice

23. In Rhynia spores produces after :
(a) Meiosis

(b) Mitosis

(c) Fertilization

(d) Suitable condition

24. Rhynia was first discovered from :
(a) India (b) England

(c) China (d) Scotland

25. Plant body of Rhynia is
(a) Rootless (b) Upright

(c) Leafless (d) All of these

26. Seed habit is found in:
(a) Marsilea (b) Selaginella

(c) Equisetum (d) Rhynia

27. The stele in the stem of Selaginella is
(a) Protostele (b) Solenostele

(c) Polystele (d) Dictyostele

28. The male gametes of Selaginella are :
(a) Biflagellate (b) Monoflagellate

(c) Multiflagellate (d) Aflagellate

29. An adaxial outgrowth from the base of
the leaves of Selaginella is called
(a) Stipule (b) Ligule

(c) Trabeculae (d) Velum
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19. mebkenveer ef›eâhšesiewce nQ:
(a) šsefj[esheâeFš (b) yeÇeÙeesheâeFš
(c) Mewkeeue (d) keâkekeâ

20. jeFefveÙee hej keâewve-meer mebjÛeveeSB ceewpeto Leer:
(a) heefòeÙeeb (b) ye[dme
(c) kesâMe (d) keâesF& veneR

21. jeFefveÙee ceW yeerpeeCegOeeefveÙeeB efkekeâefmele nesleer nQ :
(a) šefce&veueer Deewj leves kesâ Thej
(b) šefce&veueer Deewj leves kesâ Deboj
(c) heeMJe& ceW Deewj leves kesâ Thej
(d) heeMJe& ceW Deewj leves kesâ Deboj

22. jeFefveÙee veece keâwmes yevee
(a) kew%eeefvekeâ kesâ veece hej
(b) Fmekeâer Keespe jeFveer mLeeve hej ngF& Leer
(c) Ùen Fmekesâ efueS Skeâ GheÙegòeâ veece nw
(d) Ùen kew%eeefvekeâes keâer hemebo Lee

23. jeFefveÙee ceW Fmekesâ yeeo yeerpeeCeg GlheVe nesles nQ :
(a) DeOe&met$eer efkeYeepeve
(b) efcešesefmeme
(c) efve<esÛeve
(d) GheÙegòeâ efmLeefle

24. jeFefveÙee keâer meke&ØeLece Keespe keâer ieF& Leer :
(a) Yeejle ceW (b) FbiueQ[ ceW
(c) Ûeerve ceW (d) mkeâe@šueQ[ ceW

25. jeFefveÙee keâe heeohe Mejerj nw
(a) ™šuesme (b) DehejeFš
(c) heCe&efkenerve (d) Ùes meYeer

26. yeerpe mkeYeeke heeÙee peelee nw:
(a) ceeefme&efueÙee ceW (b) mesueeefpevesuee ceW
(c) Fefkeäkemesšce ceW (d) jeFefveÙee ceW

27. mesueeefpevesuee kesâ leves ceW jbYe neslee nw
(a) Øeesšesmšerue (b) meesueesveesmšerue
(c) hee@ueermšerue (d) ef[efkeäšÙeesmšerue

28. mesueeefpevesuee kesâ vej Ùegicekeâ nQ:
(a) yeeF&heäuewpesuesš (b) ceesveesheäuewpesuesš
(c) ceušerheäuewpesuesš (d) Deheâueepesuesš

29. mesueeefpevesuee keâer heefòeÙeeW kesâ DeeOeej mes Skeâ
De#eerÙe ke=efæ keânueeleer nw
(a) mšerhÙetue (b) efueiÙetue
(c) š^wyeskegâues (d) kesuece



30. Trebeculae in Selaginella is modified :
(a) Pericycle cells

(b) Cortical cells

(c) Endodermal cells

(d) None of these

31. The rhizophore of Selaginella has
(a) Triarch stele

(b) Monarch stele

(c) Diarch stele

(d) Tetrarch stele

32. In foot of Equisetum, the endodermis
is:
(a) Absent (b) One layered

(c) Two layered (d) Three layered

33. Vallecular canal in Equisetum is
situated :
(a) Below  ridges

(b) Below the furrows

(c) Between ridges and furrows

(d) Between pith and endodermis

34. Cavity formed by the disintegration of
protoxylem in Equisetum stem is called
(a) Vallecular canal (b) Carinal canal

(c) Central cavity (d) Air chamber

35. In Equisetum sporangia are born in :
(a) Microsporsophylls

(b) Megasporophylls

(c) Sporangiophores

(d) Fertile leaves

36. Presence of air cavities in the stem of
Equisetum indicate :
(a) Xerophytic feature 

(b) Hydrophytic feature

(c) Mesophytic feature 

(d) Halophytic feature

37. The resin duct of a gymnosperm stem
is an example of :
(a) Intercellular space

(b) Schizogenous cavity

(b) Lysigenous cavity

(d) Big vessels
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30. mesueeefpevesuee ceW š^syeskegâues nw?
(a) ®heevleefjle hesefjmeeFkeâue keâesefMekeâeSb
(b) ®heevleefjle keâe@efš&keâue keâesefMekeâeSb
(c) ®heevleefjle Sb[es[ce&ue keâesefMekeâeSb
(d) FveceW mes keâesF& veneR

31. mesueeefpevesuee kesâ jeFpeesheâesj ceW neslee nw
(a) ef$ekeâesCeerÙe mšerue
(b) ceesveeke&â mšerue
(c) [eÙeeÛe& mšerue
(d) šsš^eke&â mšerue

32. FefkeäJemesšce ces hegâš Sb[es[efce&me nesleer nw:
(a) DevegheefmLele (b) Skeâ mleefjle
(c) oes hejle (d) leerve hejle

33. FefkeäJemesšce ceW kesueskeäÙetuej kesâveeue efmLele nw :
(a) ces[eW kesâ veerÛes
(b) KeebÛees kesâ veerÛes
(c) cesÌ[eW Deewj KeebÛeeW kesâ yeerÛe
(d) efheLe Deewj Sb[es[efce&me kesâ yeerÛe

34. Fkeäkeermesšce leves ceW ØeesšespeeFuece kesâ efkeIešve mes
yeveves keeueer iegne keânueeleer nw
(a) kewueskeäÙetuej keâwveeue (b) keâwefjveue keâwveeue
(c) kesâbõerÙe iegne (d) keeÙeg keâ#e

35. Fefkeäkemesšce ceW yeerpeeCegOeeefveÙeeW keâe pevce neslee nw :
(a) ceeF›eâesmheesjesefheâue ceW
(b) cesieemheesjesefheâue ceW 
(c) mheesjQefpeÙeesheâesjme ceW
(d) GJe&j heefòeÙeeb ceW

36. Fefkeäkemesšce kesâ leves ceW keeÙeg iegneDeeW keâer GheefmLeefle
oMee&leer nw:
(a) pesjesheâeFefškeâ ue#eCe
(b) neF[^esheâeFefškeâ ue#eCe
(c) cesmeesheâeFefškeâ ue#eCe
(d) nsueesheâeFefškeâ ue#eCe

37. Deveeke=leyeerpeer leves keâer jsefpeve keeefnveer Fmekeâe Skeâ
GoenjCe nw:
(a) Fbšjmesueguej mhesme
(b) meeFpeesefpeveme iegne
(b) ueeFmeesefpeveme iegne
(d) yeÌ[er JeeefnkeâeSB



38. Gymnosperms differ from
angiosperms :
(a) Having seeds

(b) In being smaller in size

(c) In showing heterospory

(d) In having naked ovules

39. In which of the following sexual
reproduction is possible without water :
(a) Ulothrix (b) Riccia

(c) Pteris (d) Cycas

40. The characteristic features of the
stomata in gymnosperms is :
(a) That they are deeply sunken in pits

(b) That they are subsidiary cells

(c) That they are ordinary cells

(d) That they are specialized cells

41. Which of the following statements is
not true for gymnosperms?
(a) Leaves are compound

(b) Naked seeds are formed

(c) Xylem is made up of tracheids

(d) Xylem is made up of vessels. 

42. Which of the following is not the
characteristic features of Cycas :
(a) Circinate vernation of foliage leaves

(b) Presence of arm parenchyma

(c) Presence of motile sperms

(d) Absence of vessels in the xylem

43. Terpentine oil is obtained from:
(a) Pinus (b) Cycas

(c) Ephedra (d) Gnetum

44. Female cones are not formed in:
(a) Pinus (b) Ephedra

(c) Cycas (d) Gnetum

45. Coal Swamp of Gymnosperms
developed in :
(a) Mississippian (b) Devonian

(c) Permean (d) Pennysylvanian

46. Coenozoic era in known as:
(a) Era of flowering plants

(b) Era of Gymnosperms

(c) Era of Pteridophytes

(d) Era of Algae
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38. efpecveesmhece&, SbefpeÙeesmhece& mes efYeVe nesles nQ keäÙeeWefkeâ:
(a) yeerpe nesles nw
(b) Deekeâej ceW Úesše nesles nw
(c) nsšjesmheesjer oMee&les nw
(d) veive Deb[eMeÙe oMee&les nw

39. efvecveefueefKele ceW mes efkeâmeceW efyevee peue kesâ ueQefiekeâ
peveve mebYeke nw :
(a) ÙetueesefLeÇkeäme (b) efjkeâefmeÙee
(c) šsefjme (d) meeFkeâme

40. efpecveesmhece& ceW mšescesše keâer efkeMes<elee nw:
(a) efkeâ kes ieºeW ceW ienjeF& mes [tyes ngS nQ
(b) efkeâ kes meneÙekeâ keâesefMekeâeSb nQ
(c) kes meeOeejCe keâesefMekeâeSb nQ
(d) efkeâ kes efkeMes<e keâesefMekeâeSb nQ

41. efpecveesmhece& kesâ efueS efvecveefueefKele ceW mes keâewve mee
keâLeve mener veneR nw?
(a) heefòeÙeeB Ùeewefiekeâ nesleer nQ
(b) veive yeerpe yeveles nQ
(c) peeFuece keeefnefvekeâeDeeW keâe yevee neslee nw
(d) peeFuece keeefnkeâeDeeW keâe yevee neslee nw~

42. efvecveefueefKele ceW mes keâewve mee meeFkeâme keâe efkeefMe<š
ue#eCe veneR nw :
(a) heefòeÙeeW ceW meefme&vesš JevexMeve
(b) Deece& hewjsvkeâeFcee keâer GheefmLeefle
(c) Ûeue Meg›eâeCeg keâer GheefmLeefle
(d) peeFuece ceW keeefnkeâeDeeW keâer DevegheefmLeefle

43. leejheerve keâe lesue Øeehle neslee nw :
(a) heeFveme mes (b) meeFkeâme mes
(c) Sheâs[^e mes (d) ievesce mes

44. ceeoe Mebkegâ keâe efvecee&Ce veneR neslee nw :
(a) heeFveme mes (b) Sheâs[^e mes
(c) meeFkeâme mes (d) vesšce mes

45. efpecveesmhece& keâe keâesÙeuee oueoue efkekeâefmele ngDee:
(a) efceefmeefmeefheÙeve ceW
(b) [skeesefveÙeve ceW
(c) hejceerÙeve ceW
(d) hesveerefmeukesefveÙeve ceW

46. meerveespeesFkeâ, Ùegie keâes peevee peelee nw:
(a) heâtueeW kesâ he ewOeeW keâe Ùegie
(b) efpecveesmhece& keâe Ùegie
(c) šsefj[esheâeFšdme keâe Ùegie
(d) Mewkeeue keâe Ùegie



47. Which of the following plants have
root pockets :
(a) Eichhornia (b) Capparis

(c) Opuntia (d) Mango

48. In Sweet potato food is stored in :
(a) Stem (b) Root

(c) Leaf (d) Petiole

49. Periblem gives rise to
(a) Epidermis

(b) Cuticle

(c) Cortex, hypodermis and endodermis

(d) Vascular tissue

50. Dermatogen gives rise to :
(a) Epidermis (b) Cortex

(c) Ground tissue

(d) Vascular bundle

51. Pith which forms the central core of
stem is also known as :
(a) Medulla (b) Epiblema

(c) Bast (d) Ground tissue

52. Vascular bundle is found surrounded
by a well developed sclerenchymatous
sheath in:
(a) Monocot roots

(b) Monocot stems

(c) Dicot roots 

(d) Dicot stems

53. Casparian strips are found in the
radial walls of :
(a) Pith cells

(b) Epidermal cells

(c) Hypodermal cells

(d) Endodermal cells 

54. Histogen theory was proposed by
(a) Hasntein (1868)

(b) Schmidt (1924)

(c) Wolff (1759)

(d) Haberlandt (1914)

55. The balloonlike outgrowth of
parenchyma into the lumen of the
vessels is known as :
(a) Histogen (b) Tyloses

(c) Phellogen (d) Tunica
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47. efvecveefueefKele ceW mes efkeâme heewOes ceW hee@kesâš peÌ[W nesleer
nQ:
(a) DeeFkeâesefve&Ùee (b) keâwheefjme
(c) DeeshebefšÙee (d) Deece

48. Mekeâjkeâbo ceW Yeespeve meb«eefnle neslee nw 
(a) levee ceW (b) peÌ[ ceW
(c) heòeer ceW (d) hesefšÙeesue ceW

49. hesefjyuesce keâes pevce oslee nw
(a) Sefhe[efce&me
(b) keäÙegefškeâue 
(c) keâe@š&skeäme, neFhees[efce&Me Deewj Sb[es[efce&me
(d) mebkenveer Tlekeâ

50. [sjcesšespesve GlheVe keâjlee nw :
(a) Sefhe[efce&me (b) keâe@š&skeäme
(c) «eeGb[ Tlekeâ (d) mebkenveer yeb[ue

51. ceppee pees leves keâe kesâbõerÙe keâesj yeveelee nw, Gmes
peevee peelee nw:
(a) ces[guee (b) Sefheyeuescee
(c) yeemš (d) «eeGb[ Tlekeâ

52. mebJenve yeb[ue Skeâ DeÛÚer lejn mes efkekeâefmele
ÂÌ{eslekeâerÙe DeeÛÚo mes efIeje ngDee heeÙee peelee nw:
(a) ceesveeskeâesš peÌ[eW ceW
(b) Skeâyeerpehe$eer levee ceW
(c) efÉyeerpehe$eer peÌ[eW ceW
(d) efÉyeerpehe$eer levee ceW

53. keâwmhesefjÙeve heefóÙeeb efkeâmekeâer jsef[Ùeue oerkeejeW ceW
heeF& peeleer nQ:
(a) efheLe keâesefMekeâeSb
(b) Sefhe[ce&ue keâesefMekeâeSb
(c) neFhees[ce&ue keâesefMekeâeSb
(d) Sb[es[ce&ue keâesefMekeâeSb

54. efnmšespeve efmeæeble efkeâmekesâ Éeje Øemleeefkele efkeâÙee
ieÙee Lee?
(a) nwbmšerpeve (1868)

(b) meefceš (1924)

(c)  Jeguheâ (1759)

(d) nwyejuesC[ (1914)

55. JeeefnkeâeDeeW kesâ uegcesve ceW hewjsvkeâeFcee keâer iegyyeejs
pewmeer ke=efæ keânueeleer nw:
(a) efnmšespeve (b) šeFueesefmeme
(c) heâsueespesve (d) šŸetefvekeâe



56. The annual rings are not formed in
monocot stems because :
(a) Cambium is present

(b) There is no secondary growth due to 
absence of cambium

(c) Vascular, bundles are not arranged
in a ring

(d) None of the above

57. The tapetal cells are :
(a) Uninucleate (b) Anucleate

(c) Multinucleate (d) Dikaryotic

58. The Ubisch bodies are present in
(a) Pollen tube (b) PMC

(c) Pollen grain (d) Tapetal cells

59. The most common type of ovule in
angiosperms is :
(a) Anatropous 

(b) Amphitropous

(c) Orthotropous

(d) Circinotropous

60. The normal type of dicot embryo
development was studied in :
(a) Capsella (b) Cyperus

(c) Calotropis (d) Saggitariia

61. The term zoophily is applied for the :
(a) study of zoology

(b) pollination through zoospores

(c) pollination through the medium of
animals

(d) class of animals

62. In bisexual flower when gynoecium
mature first the condition is known as :
(a) dichogamy (b) protogyny

(c) protoandry (d) heterostyly

63. Pollen tube usually enters into ovule
through :
(a) hilium (b) chalaza

(c) micropyle (d) integument

64. Fusion of egg and male gamete in case
of angiosperms result in the formation
of:
(a) oospore (b) zygote

(c) micropyle (d) integument
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56. Skeâyeerpehe$eer leveeW ceW keeef<e&keâ keueÙe veneR yeveles
keäÙeeWefkeâ :
(a) keâwefcyeÙece ceewpeto nw
(b) keâwefcyeÙece keâer DevegheefmLeefle kesâ keâejCe keâesF&

efÉleerÙekeâ ke=efæ veneR nesleer nw
(c) mebkenveer, yeb[ue Skeâ Iesjs ceW kÙekeefmLele veneR

nesles nQ
(d) GheÙe&gòeâ ceW mes keâesF& veneR

57. šsheeršue keâesefMekeâeSb nQ:
(a) ÙetefvevÙetefkeäueSš (b) SvÙetefkeäueSš
(c) yengkesâvõerÙe (d) ef[keâwefjÙeesefškeâ

58. Ùetyeerme yee@ef[pe heeÙeer peeleer nw
(a) hejeie veeefuekeâe ceW
(b) heerScemeer ceW
(c) hejeiekeâCe ceW
(d) šshesšue keâesefMekeâeDees ces

59. SbefpeÙeesmhece& ceW meyemes Deece yeerpeeb[ nw:
(a) Sbš^esheme
(b) Scheâerš^esheme
(c) DeeLeexš^esheme
(d) meefme&veesš^esheme

60. efÉyeerpehe$eer YeÇtCe kesâ meeceevÙe Øekeâej efkekeâeme kesâ
DeOÙeÙeve efkeâÙee ieÙee Lee:
(a) keâwhmesuee (b) meeFhejme
(c) keâwueesš^esefheme (d) mewefiešsefjÙee

61. petefÌHeâueer Meyo efkeâmekesâ efueS ueeiet neslee nw:
(a) petuee@peer keâe DeOÙeÙeve
(b) petmheesme& kesâ ceeOÙece mes hejeieCe
(c) peevekejeW kesâ ceeOÙece mes hejeieCe
(d) peevekejeW keâer ßesCeer

62. GYeÙeefuebieer heg<he ceW peye peeÙeebie henues heefjhekeäke
neslee nw lees Gme efmLeefle keâes keânles nQ :
(a) [eFkeâesiewceer (b) ØeesšesieeFveer
(c) ØeesšesSb[^er (d) nsšsjesmšerueer

63. hejeie veefuekeâe meeceevÙeleŠ yeerpeeb[ ceW ØekesMe keâjleer nw:
(a) efnefueÙece (b) ÛeeueeÌpee
(c) ceeF›eâesheeFue (d) DeOÙeeJejCe

64. SbefpeÙeesmhece& kesâ ceeceues ceW DeC[ Deewj vej Ùegicekeâ kesâ 
mebueÙeve kesâ heefjCeecemke™he yevelee nw:
(a) Deesmheesj (b) peeFieesš
(c) ceeF›eâesheeFue (d) DeOÙeeJejCe



65. Fusion of second male gamete and the
two polar-nuclei (or one secondary
nucleus) of embryo sac in angiosperms
is known as :
(a) parthenocarpy

(b) single fertilization

(c) triple fusion

(d) fertilization

66. After pollination the pollen tube enters 
the style and grows down towards the
egg because
(a) the egg cell attracts the pollen tube

as they have dissimilar electric
charge

(b) the filiform apparatus of synergids
is believed to attract the pollen tube

(c) it has no other passage to follow

(d) it grows under the influence of egg
nucleus

67. In angiosperms one of the two male
nuclei initiates the development of
embryo, while the second initiates the :
(a) cotyledons (b) epicotyl

(c) hypocotyl (d) nutritive tissue

68. The fusion product of polar nuclei and
male gamete is :
(a) zygote

(b) secondary nucleus

(c) primary endosperm nucleus

(d) triple fusion

69. Aleurone layer is present in :
(a) peripheral part of endosperm

(b) peripheral part of scutellum

(c) peripheral part of coleoptile

(d) cotyledons

70. When the embryo is formed by some
process in which normal meiosis and
syngamy have been eliminated, this
phenomenon is called :
(a) amphimixis

(b) parthenogenesis

(c) agamospermy

(d) double fertilization
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65. SefvpeÙeesmhece& ceW otmejs vej Ùegicekeâ Deewj YeÇtCekeâesMe
kesâ oes OeÇgkeerÙe-veeefYekeâ (Ùee Skeâ efÉleerÙekeâ
kesâvõkeâ) keâe mebueÙeve keânueelee nw:
(a) heeefLe&veeskeâeheer&
(b) Skeâue efve<esÛeve
(c) efš^heue heäÙetpeve
(d) efve<esÛeve

66. hejeieCe kesâ yeeo hejeie veefuekeâe Jeefle&keâe ceW ØekesMe
keâjleer nw Deewj DeC[ keâer Deesj veerÛes keâer Deesj yeÌ{leer
nw keäÙeeWefkeâ
(a) DeC[ keâer keâesefMekeâe hejeie veefuekeâe keâes

Deekeâef<e&le keâjleer nw keäÙeeWefkeâ Gvekesâ heeme efYeVe
efkeÅegle DeekesMe neslee nw

(b) ceevee peelee nw efkeâ menef›eâÙeeDeeW keâe leblegceÙe
GhekeâjCe hejeieveueer keâes Deekeâef<e&le keâjlee nw

(c) Fmekeâe heeueve keâjves kesâ efueS keâesF& DevÙe ceeie&
veneR nw

(d) Ùen DeC[ kesâ kesâbõkeâ kesâ ØeYeeke ceW yeÌ{lee nw

67. Deeke=òeyeerpeer ceW oes vej kesâvõkeâ ceW mes Skeâ YeÇtCe kesâ
efkekeâeme keâer Meg®Deele keâjlee nw, peyeefkeâ otmeje
DeejbYe keâjlee nw:
(a) yeerpehe$e (b) SefhekeâesšeFue
(c) neFheeskeâesšeFue (d) hees<ekeâ Tlekeâ

68. OeÇgkeerÙe veeefYekeâ Deewj vej Ùegicekeâ keâe mebueÙeve Glheeo nw:
(a) Ùegicevepe
(b) ceeOÙeefcekeâ veeefYekeâ
(c) ØeeLeefcekeâ YeÇtCehees<e kesâvõkeâ
(d) efš^heue heäÙetpeve

69. SuÙetjesve hejle GheefmLele nesleer nw :
(a) SC[esmhece& kesâ heefjOeerÙe Yeeie ceW
(b) mkeâtšsuece kesâ heefjOeerÙe Yeeie ceW
(c) Øeebkegâefjkeâe kesâ heefjOeerÙe Yeeie ceW
(d) keâesefšefue[ve ceW

70. peye YeÇtCe efkeâmeer Øeef›eâÙee Éeje yevelee nw efpemeceW
meeceevÙe DeOe&met$eerefkeYeepeve Deewj efmeveiewceer keâes
meceehle keâj efoÙee peelee nw, lees Fme Iešvee keâes keâne
peelee nw:
(a) Scheâerefceefkeämeme
(b) heeLe&sveespesvesefmeme
(c) Sieceesmheceer&
(d) [yeue efve<esÛeve



71. When embryo develops from some cell
of the embryo sac other than the
egg.The process is known as : 
(a) apospory 

(b) sporogenesis

(c) parthenocarpy 

(d) parthenogenesis

72. Which of the following is the common
example of polyembryony?
(a) apple (b) potato

(c) strawberry (d) Citrus

73. Which of the following is not true
about cleavage polyembryony?
(a) two or more embryos are formed in

a seed by the cleavage of the zygote.

(b) It is widespread in gymnosperms

(c) more than one embryo sacs are
formed by the cleavage of the
functional megaspore

(d) amongest angiosperms it is fairly
common in orchids.

74. Embryos developing from synergids
are :
(a) always haploid

(b) always diploid

(c) usually haploid but may be diploid

(d) always sterile

75. In nature polyembryony does not arise 
spontaneously from the cells of the:
(a) integuments of the ovule

(b) nucellus

(c) embryo sac

(d) leaf
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71. peye YeÇtCe DeC[ kesâ Deueekee YeÇtCekeâesMe keâer efkeâmeer
keâesefMekeâe mes efkekeâefmele neslee nw~ Fme Øeef›eâÙee keâes
Fme ™he ceW peevee peelee nw:
(a) Sheesmheesjer
(b) yeerpeeCegpeveve
(c) heeLe&sveeskeâeheer&
(d) heeLe&sveespesvesefmeme

72. efvecveefueefKele ceW mes keâewve mee yengYeÇtCelee keâe
meeceevÙe GoenjCe nw?
(a) mesye (b) Deeuet
(c) mš^e@yesjer (d) meeFš^me

73. efvecveefueefKele ceW mes keâewve mee efkeoueve yengYeÇtCelee kesâ 
yeejs ceW mener veneR nw?
(a) Skeâ yeerpe ceW oes Ùee DeefOekeâ YeÇtCe Ùegicevepe kesâ 

efkeoueve Éeje yeveles nQ~
(b) Ùen efpeceveesmhece&me ceW kÙeehekeâ nw
(c) ef›eâÙeeMeerue ieg®yeerpeeCeg kesâ efkeoueve mes Skeâ mes

DeefOekeâ YeÇtCekeâesMe yeveles nQ
(d) SbefpeÙeesmhece& kesâ yeerÛe Ùen Dee@efke&â[ ceW keâeheâer

meeceevÙe nw~

74. efmeveefpe&[ mes efkekeâefmele nesves keeues YeÇtCe nQ:
(a) ncesMee DeiegefCele
(b) ncesMee efÉiegefCele
(c) Deeceleewj hej DeiegefCele uesefkeâve efÉiegefCele nes

mekeâlee nw
(d) ncesMee yeeBPe

75. Øeke=âefle ceW yengYeÇtCelee DeveeÙeeme efkeâmekeâer
keâesefMekeâeDeeW mes GlheVe veneR nesleer nw:
(a) yeerpeeC[ kesâ DeOÙeeJejCe (b) yeerpeeb[keâeÙe
(c) YeÇtCe Lewueer (d) heòeer

Answers

1. (c) 2. (d) 3. (b) 4. (a) 5. (b) 6. (a) 7. (c) 8. (a) 9. (b) 10. (d)

11. (b) 12. (b) 13. (a) 14. (c) 15. (c) 16. (d) 17. (a) 18. (d) 19. (a) 20. (d)

21. (a) 22. (b) 23. (b) 24. (d) 25. (d) 26. (b) 27. (a) 28. (a) 29. (b) 30. (c)

31. (b) 32. (c) 33. (b) 34. (b) 35. (c) 36. (b) 37. (b) 38. (d) 39. (d) 40. (a)

41. (d) 42. (b) 43. (a) 44. (b) 45. (a) 46. (a) 47. (a) 48. (b) 49. (c) 50. (a)

51. (a) 52. (b) 53. (d) 54. (a) 55. (b) 56. (c) 57. (c) 58. (d) 59. (a) 60. (a)

61. (c) 62. (b) 63. (c) 64. (b) 65. (c) 66. (b) 67. (d) 68. (c) 69. (b) 70. (c)

71. (a) 72. (d) 73. (c) 74. (c) 75. (d)



1. Which one is an aquatic bryophyte?
(a) Pellia (b) Porella

(c) Riccia fluitans (d) Marchantia

2. Nurse cells are present in the
sporogonium of ........ ..
(a) Riccia (b) Marchantia

(c) Anthoceros (d) Porella

3. Riccia have ........ ..
(a) Smooth walled rhizoids

(b) Tuberculate rhizoids

(c) Multicellular scales 

(d) All of the above

4. Sporophyte is fully dependent on
gametophyte in ........ ..
(a) Riccia (b) Gymnosperm

(c) Angiosperms (d) None of these

5. Riccia thallus grows by ........ ..
(a) Group of intercalary initials

(b) Group of apical initials

(c) Single apical cell

(d) Basal meristem

6. In Marchantia, the young archegonia
are situated :
(a) on the disc 

(b) below the disc

(c) in the middle of the disc

(d) on the sides of the disc

7. Female sex organs in Marchantia are
borne on:
(a) elatophore 

(b) rhizophore

(c) antheridiophore

(d) archegoniophore

8. The sporophyte of Marchantia is
enveloped by :
(a) Two protective sheaths

(b) One protective sheath

(c) Three protective sheaths

(d) Four protective sheaths
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1. keâewve mee Skeâ peueerÙe yeÇeÙeesheâeFš nw?
(a) hesefueÙee (b) heesjsuee
(c) efjkeâefmeDee heäuegševme (d) ceekeâs&ebsfmeÙee 

2. heefjÛeeefjkeâe keâesefMekeâeSB efkeâmekesâ mheesjesieesefveÙece ceW
ceewpeto nesleer nQ .........
(a) efjefkeämeÙee (b) ceekeâs&ebsfmeÙee 
(c) SvLeesmesjesme (d) heesjsuee

3. efjefkeämeÙee ceW ...........
(a) efÛekeâveer oerkeej keeues jepeesF[me nesles nw
(b) šŸetyejkeäÙetuesš jeFpeesF[dme nesles nw
(c) ceušermesueguej mkesâue nesles nw
(d) Ghejesòeâ meYeer

4. mheesjesheâeFš hetjer lejn mes iewcesšesheâeFš hej efveYe&j
neslee nw..........
(a) efjefkeämeÙee ceW (b) efpecveesmhece& ceW
(c) SbefpeÙeesmhece& ceW (d) FveceW mes keâesF& veneR

5. efjefkeämeÙee Lewueme ........... Éeje yeÌ{lee nw~
(a) Fbšjkeâwuejer DeeÅee#ejeW keâe mecetn
(b) Sefhekeâue DeeÅee#ejeW keâe mecetn
(c) efmebieue Sefhekeâue mesue
(d) yesmeue cesefjmšsce

6. ceekeâs&ebsfmeÙee ceW, Ùegkee Deeefke&âieesefveÙee efmLele nQ:
(a) ef[mkeâ hej
(b) ef[mkeâ kesâ veerÛes
(c) ef[mkeâ kesâ yeerÛe ceW
(d) ef[mkeâ kesâ efkeâveejeW hej

7. ceekeâs&ebsfmeÙee  ceW ceeoe peveve DebieeW keâe kenve efkeâÙee
peelee nw:
(a) Fueešesheâesj Éeje
(b) jeFpeesheâesj Éeje
(c) SLesefjef[Ùeesheâesj Éeje
(d) m$eerOeeveerOej Éeje

8. ceekeâs&ebsfmeÙee kesâ mheesjesheâeFš keâkej efkeâÙee ieÙee nw:
(a) oes megj#eelcekeâ efPeuueer mes
(b) Skeâ megj#eelcekeâ efPeuueer mes
(c) leerve megj#eelcekeâ efPeuueer mes
(d) Ûeej megj#eelcekeâ efPeuueer mes



9. Elevated areolae are present on the
upper surface of the gametophytic
thallus of :
(a) Funaria (b) Riccia

(c) Marchantia (d) Anthoceros

10. ‘‘Horn wort’’ is the common name of:
(a) Riccia (b) Porella

(c) Anthoceros (d) Pellia

11. Endophytic algae is present in the
thallus of:
(a) Anthoceros (b) Riccia

(c) Funaria (d) Marchantia

12. In Funaria mature antheridia are:
(a) Cylindrical containing biflagellate

male gametes

(b) Cylindrical containing
multiflagellate male gametes

(c) Ovate containing biflagellate male
gametes

(d) Ovate containing multiflagellate
male gametes

13. Capsule in Funaria is:
(a) Cylindrical and straight

(b) Cylindrical and inclined

(c) Pear-shaped and inclined

(d) Pear-shaped and straight

14. Heterospory is caused by :
(a) Nourishment (b) Temperature

(c) Humidity (d) None of these

15. Sporangia develops ........ .. in Rhynia.
(a) Leptosporangiately

(b) Eusporangiately

(c) (a) and (b) both

(d) None of the above

16. Which of the following stele is found in
stem of Rhynia?
(a) Protostele (b) Siphonostele

(c) Eustele (d) Dictyostele ‘

17. Which of the following is absent in
Rhynia‘?
(a) Stem (b) Rhizoids

(c) Root (d) All of these
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9. yeÌ{s SefjDeesue iewcesšesheâeFefškeâ Lewueme keâer Thejer
melen hej ceewpeto nesles nQ:
(a) heäÙetvesefjÙee ceW (b) efjkeâefmeÙee ceW
(c) ceeskeXâefMeÙee ceW (d) SbLeesmesjesme ceW

10. ''ne@ve& Jeeš&'' keâe meeceevÙe veece nw:
(a) efjefkeämeÙee (b) heesjsuee
(c) SvLeesmesjesme (d) hesefueÙee

11. Sb[esheâeFefškeâ Mewkeeue efkeâmekesâ Lewueme ceW ceewpeto
neslee nw:
(a) SbLeesmesjesme (b) efjkeâefmeÙee
(c) heäÙetvesefjÙee (d) ceekeâs&ebsfmeÙee 

12. heäÙesvetefjÙee ceW heefjhekeäke SvLesefjef[Ùee nQ:
(a) yesueveekeâej Ùegòeâ yeeFheäuewpesuesš vej Ùegicekeâ
(b) yeng heäuespesuesš heg®<e Ùegicekeâ Ùegòeâ yesueveekeâej
(c) DeC[eCeg efpemeceW efÉ-hegbpekeâ vej Ùegicekeâ nesles nQ
(d) Deeskesš Ùegòeâ ceušerheäuewieuesš vej Ùegicekeâ

13. heäÙetvesefjÙee ceW keâwhmetue nw:
(a) yesueveekeâej Deewj meerOes
(b) yesueveekeâej Deewj Pegkeâe ngDee
(c) veeMeheeleer kesâ Deekeâej Deewj Pegkeâe ngDee
(d) veeMeheeleer kesâ Deekeâej Deewj meerOes

14. nsšsjesmheesjer efkeâmekesâ keâejCe neslee nw:
(a) hees<eCe
(b) leeheceeve
(c) Deeõ&lee
(d) FveceW mes keâesF& veneR

15. yeerpeeCegOeeveer efkekeâefmele nesleer nw........... jeFefveÙee nw~
(a) ueshšesmheesjwefpeÙesšueer
(b) ÙetmheesjQefpeÙesšueer
(c) (a) Deewj (b) oesveeW
(d) GheÙe&gòeâ ceW mes keâesF& veneR

16. efvecveefueefKele ceW mes keâewve-mee jbYe jeFefveÙee kesâ leves
ceW heeÙee peelee nw?
(a) Øeesšesmšerue (b) meeFheâveesmšerue
(c) Ùetmšerue (d) ef[efkeäšÙeesmšerue 

17. jeFefveÙee ceW efvecveefueefKele ceW mes keâewve mee
DevegheefmLele nw?
(a) mšsce
(b) jeFpeesF[dme
(c) peÌ[
(d) Ùes meYeer



18. Who discovered the fossil of Rhynia?
(a) Pant (b) Mehra

(c) Eames (d) Kidston and Lang

19. Prof. Birbal Sahani is famous for his
research in the field of :
(a) Palaeobotany (b) Physiology

(c) Cytology (d) Ecology

20. Rhizophore of Selaginella is like a:
(a) Root

(b) Organ sengenesis

(c) Stem

(d) Part of leaf

21. Trabeculae found in :
(a) Psilotum (b) Lycopodium

(c) Selaginella (d) Marsilea

22. Equisetum is :
(a) Initially heterosporous

(b) Homosporous

(c) Heterosporous

(d) Atrosporous

23. Intercalary meristem is seen in: 
(a) Equisetum (b) Selaginella

(c) Lycopodium (d) Psilotum

24. The smallest known gymnosperms is :
(a) Cycas revoluta   (b) Pinus insularis

(c) Cedrus                      (d) Zamimia pygmea

25. Red wood tree is:
(a) Cedrus (b) Pinus

(c) Cycas revoluta (d) Sequoia

26. Dry fruit “chilgoza” is the seed of:
(a)   Cycas revoluta        (b)  Zammia pygmea

(c)  Cedus deodara    (d)  Pinus gerardiana

27. In Cycas
(a) Male cone (strobilus) and

megasporophylls occur on separate
plants

(b) Male cone and megasporophylls
occur on same plant

(c) The same cone contains both
microsporangia and ovules

(d) The same sporophyll bears
microsporangia and ovules
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18. jeFefveÙee kesâ peerkeeMce keâer Keespe efkeâmeves keâer Leer?
(a) heble (b) cesnje
(c) F&cme (d) efkeâ[mšve Deewj ueQie

19. Øees. yeerjyeue meenveer efkeâme #es$e ceW Deheves MeesOe kesâ
efueS Øeefmeæ nQ:
(a) hegjekevemheefle efke%eeve (b) efheâefpeÙeesuee@peer
(c) meeFšesuee@peer (d) Fkeâesuee@peer

20. mesueeefpevesuee keâe jeFpeesheâesj Skeâ Øekeâej keâe neslee nw :
(a) peÌ[
(b) Debie mesefjefpevesefmeme
(c) levee
(d) heòeer keâe Yeeie

21. š^wyeskegâues heeÙee peelee nw:
(a) meeFueesšce ceW (b) ueeFkeâesheesef[Ùece ceW
(c) mesueeefpevesuee ceW (d) ceeefme&efueÙee ceW

22. Fefkeäkemeeršce nw:
(a) ØeejbYe ceW efke<eceyeerpeeCegkeâ
(b) nesceesmeheesjme
(c) nsšsjesmheesjme
(d) Sš^esmhees[&me

23. Fbšjkeäuesjer cesefjmšsce osKee peelee nw:
(a) Fefkeäkemesšce ceW (b) mesueeefpevesuee ceW
(c) ueeFkeâesheesef[Ùece ceW (d) meeFueesšce ceW

24. meyemes Úesše %eele efpecveesmhece& nw:
(a) meeFkeâme efjkeesuegše (c) heeFveme Fbmeguesefjme
(c) mes[me oskeoej (d) pewefceÙee heeFeficeÙee

25. js[ Jeg[ keâe hesÌ[ nw:
(a) oskeoej (b) heeFveme
(c) mes[^me osJeoej (d) efmekeâesÙee

26. [^eF& Øeâtš 'efÛeueieespee' efkeâmekeâe yeerpe nw:
(a) meeFkeâme jskeesuegše (b) pewefceÙee heeÙeeficeÙee
(c) mes[^me oskeoej (d) heeFveme efpejeef[&Ùeevee

27. meeFkeâme ceW
(a) vej Mebkegâ (mš^esefyeueme) Deewj cesieemheesjesefheâue

Deueie-Deueie heewOeeW hej nesles nQ
(b) vej Mebkegâ Deewj cesieemheesjesefheâue Skeâ ner heewOes

hej nesles nQ
(c) Skeâ ner Mebkegâ ceW ueIegyeerpeeCegOeeveer Deewj yeerpeeb[ 

oesveeW nesles nQ
(d) Skeâ ner yeerpeeCegheCe& ueIegyeerpeeCegOeeveer leLee

yeerpeeb[ OeejCe keâjlee nw



28. Which of the following is a living fossil:
(a) Pinus (b) Cycas

(c) Ephedra (d) None of these

29. In Cycas male cone lacks:
(a) Microspores

(b) Microsporophylls

(c) Microsporangium (d) Nucellus

30. The coralloid roots are found in :
(a) Cycas (b) Pinus

(c) Ephedra (d) Gnetum

31. The pollination in Cycas takes place
through :
(a) Wind (b) Water

(c) Insects (d) None of these

32. Cycas is:
(a) Monoecious (b) Dioecious

(c) Hermaphrodite (d) None of these

33. Pinus wood is:
(a) Monoxylic (b) Pycnoxylic

(c) Compact (d) None of these

34. Bars of Sanio is found in:
(a) Cycas (b) Pinus

(c) Pteris (d) All of these

35. Xylem vessels are found in:
(a) Cycas (b) Pinus

(c) Ephedra (d) Rhynia

36. Mesozoic era is known as:
(a) Era of Algae

(b) Era of Bryophytes

(c) of Pteridophytes

(d) Era of Gymnosperms

37. In which of the following, the plants
are all roots
(a) Podostemon (b) Lemna

(c) Wolffia (d) Utricularia

38. Nodulose roots are found in :
(a) Gram (b) Curcuma

(c) Peanut (d) Pea

39. Bulbils are found in :
(a) Oxalis (b) Mango

(c) Cocoloba (d) Asparagus
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28. efvecveefueefKele ceW mes keâewve mee peerefkele peerkeeMce nw:
(a) heeFveme (b) meeFkeâme
(c) Sheâs[^e (d) FveceW mes keâesF& veneR

29. meeFkeâme ceW vej Mebkegâ keâe DeYeeke neslee nw :
(a) ceeF›eâesmheesme& (b) ceeF›eâesheesjesefheâue
(c) ueIegyeerpeeCegOeeveer (d) yeerpeeb[keâeÙe

30. keâesjuee@Ùe[ peÌ[W heeÙeer peeleer nQ:
(a) meeFkeâme ceW (b) heeFveme ceW
(c) Sheâs[^e ceW (d) vesšce ceW

31. meeFkeâme ceW hejeieCe neslee nw :
(a) nkee Éeje (b) heeveer Éeje
(c) keâerÌ[s Éeje (d) FveceW mes keâesF& veneR

32. meeFkeâme nw:
(a) ceesveesefmeÙeme (b) ef[DeesefmeÙeme
(c) GYeÙeefuebieer (d) FveceW mes keâesF& veneR

33. heeFveme keâer uekeâÌ[er nw:
(a) ceesveespeeFefuekeâ
(b) efhekeäveespeeFefuekeâ
(c) keâe@chewkeäš
(d) FveceW mes keâesF& veneR

34. meeefveÙees keâer meueeKes heeÙee peelee nw:
(a) meeFkeâme ceW (b) heeFveme ceW
(c) šsefjme ceW (d) Ùes meYeer

35. peeFuece keeefnkeâeSB heeÙeer peeleer nQ:
(a) meeFkeâme ceW (b) heeFveme ceW
(c) Sheâs[^e ceW (d) jeFefveÙee ceW

36. cesmeespeesFkeâ Ùegie kesâ ™he ceW peevee peelee nw:
(a) Mewkeeue keâe Ùegie
(b) yeÇeÙeesheâeFšdme keâe Ùegie
(c) heWšesheâeFšdme keâer
(d) efpecveesmhece& keâe Ùegie

37. efvecveefueefKele ceW mes efkeâmeceW meYeer heewOes peÌ[ nesles nQ
(a) hees[esmšscee@ve (b) uescvee
(c) keesefuheâÙee (d) Ùetefš^kegâueefjÙee

38. ieeb"oej peÌ[W heeÙeer peeleer nQ :
(a) «eece (b) kegâjkegâcee
(c) cetbieheâueer (d) cešj

39. yeuye ceW heeS peeles nQ:
(a) Dee@keämeeefueme (b) Deece
(c) keâeskeâesueesyee (d) Meleekejer



40. Cladode is found in :
(a) Asparagus

(b) Opuntia

(c) Parkinsonia

(d) Guava

41. Offset is found in
(a) Eichhornia b) Potato

(c) Hydrocotyle (d) Mint

42. Phyllode is found in which of the
following plant :
(a) Parkinsonia (c) Ruscus

(b) Opuntia (d) Asparagus

43. Unifoliate compound leaf is found in :
(a) Mango (b) Citrus

(c) Pea (d) Asparagus

44. Stipules are modified into tendril in :
(a) Gloriosa (b) Smilax

(c) Lathyrus aphaca (d) Pisum sativum

45. Root hairs are present in:
(a) Meristematic zone

(b) Elongation zone

(c) Maturation zone

(d) Root cap zone

46. Quiescent centre was discovered by : 
(a) Clowes in Maize root

(b) Steward

(c) Nageli in shoot apex

(d) Wolf

47. Who proposed apical cell theory :
(a) Nageli (b) Hanstein

(c) Clowes (d) None of these

48. When phloem and cambium are
present on both sides of xylem the
vascular bundle is known as :
(a) Bicollateral (b) Radial

(c) Concentric (d) Collateral

49. When the xylem is surrounded by
phloem or phloem is surrounded by
xylem, such vascular bundles are
known as :
(a) Radial (b) Conjoint

(c) Colateral (d) Concentric
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40. keäuew[es[ heeÙee peelee nw:
(a) Meleekejer ceW
(b) DeeshebefšÙee ceW
(c) heeefke&âvmeesefveÙee ceW
(d) Dece™o ceW

41. Dee@heâmesš heeÙee peelee nw
(a) DeeFkeâesefve&Ùee ceW (b) Deeuet ceW
(c) neF[^eskeâesšheâeFue ceW (d) efcebš ceW

42. heâeFuees[ efvecveefueefKele ceW mes efkeâme heewOes ceW heeÙee
peelee nw:
(a) heeefke&âvmeesefveÙee ceW (c) jmekeâme ceW
(b) DeeshebefšÙee ceW (d) Meleekejer ceW

43. Skeâ heCeer&Ùe Ùeewefiekeâ heòeer heeÙeer peeleer nw :
(a) Deece (b) meeFš^me
(c) cešj (d) Meleekejer

44. mšerhÙetume keâes šWef[^ue ceW ™heebleefjle efkeâÙee peelee nw:
(a) iueesefjÙeesmee (b) efmceuewkeäme
(c) uewefLejme Dehenekeâe (d) heeFmece mewefškece

45. cetuejesce GheefmLele nesles nQ :
(a) cesefjmšscewefškeâ Ìpeesve (b) Je=efæ #es$e
(c) heefjhekeäkelee #es$e (d) ™š keâwhe peesve

46. Meeble kesâbõ keâer Keespe efkeâmekesâ Éeje keâer ieF& Leer:
(a) cekeäkeâe keâer peÌ[ ceW keäuee@Je ves
(b) mšerJee[& ves
(c) Øejesn Meer<e& ceW vesieueer ves
(d) Jeguheâ ves

47. Meer<e& keâesefMekeâe efmeæeble efkeâmeves Øeefleheeefole efkeâÙee
Lee :
(a) veiesueer (b) newmšsce
(c) keäueesÌpe (d) FveceW mes keâesF& veneR

48. peye peeFuece kesâ oesveeW efkeâveejeW hej heäueesSce Deewj
keâQefyeÙece ceewpeto nesles nQ lees mebkenve yeb[ue keâes keâne
peelee nw:
(a) efÉmebheeefÕe&keâ (b) jsef[Ùeue
(c) kesâbefõle (d) mebheeefÕe&keâ

49. peye peeFuece heäueesSce mes efIeje neslee nw Ùee heäueesSce
peeFuece mes efIeje neslee nw, lees Ssmes mebkenve yeb[ue
keânueeles nQ:
(a) jsef[Ùeue (b) mebÙeespeve
(c) mebheeefÕe&keâ (d) kesâbefõle



50. In some endodermal cells of roots
opposite to protoxylem patches, the
inner and outer tangential walls are
thin. Such cells are called:
(a) Sclereids (b) Passage cells

(c) Epiblema (d) None of these

51. The function of velamen tissue is :
(a) Protection

(b) Absorption of moisture

(c) Respiration

(d) To provide cork

52. Conjoint, collateral, closed, scattered
vascular bundles with
sclerenchymatous sheath are
characteristics of :
(a) Dicot root (b) Monocot stem

(c) Monocot root (d) Dicot stem

53. Abnormal secondary growth is found
in :
(a) Dracaena (b) Triticum

(c) Helianthum (d) Cucurbits

54. Periderm includes :
(a) Cork, cork cambium and secondary

cortex

(b) Inside the vascular cambium

(c) Cork and secondary phloem

(d) Cork

55. In a dicot stem an oldest secondary
phloem is present
(a) Just outside the vascular cambium

(b) Inside the vascular cambium

(c) Inside the primary phloem

(d) Just inside the secondary cortex

56. Vascular cambium divides to form :
(a) Primary xylem and phloem

(b) Vessels and tracheids only

(c) Secondary xylem and phloem

(d) None of these

57. The cells of vascular cambium divide
........ to form secondary tissues
(a) Transversely (b) Anticlinally

(c) Tangentially (d) Radially
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50. ØeesšespeeFuece hewÛe kesâ efkehejerle peÌ[eW keâer kegâÚ
Sb[es[ce&ue keâesefMekeâeDeeW ceW, Deebleefjkeâ Deewj yeenjer
mheMe&jsKee keâer oerkeejW heleueer nesleer nQ~ Ssmeer
keâesefMekeâeDeeW keâes keâne peelee nw:
(a) mkesâuesefj[dme (b) hewmespe mesue
(c) Sefheyeuescee (d) FveceW mes keâesF& veneR

51. kesueecesve Tlekeâ keâe keâeÙe& nw :
(a) mebj#eCe
(b) veceer keâe DekeMees<eCe
(c) MJemeve
(d) keâe@ke&â Øeoeve keâjves kesâ efueS

52. mebÙegòeâ, mebheeefÕe&keâ, yebo, efyeKeje ngDee mebkenveer
yeb[ue mkeäuesjsvkeâeFcesšme DeeJejCe kesâ ue#eCe nQ:
(a) efÉyeerpehe$eer peÌ[ (b) Skeâyeerpehe$eer levee
(c) Skeâyeerpehe$eer peÌ[ (d) efÉyeerpehe$eer levee

53. DemeeceevÙe efÉleerÙekeâ ke=efæ heeÙeer peeleer nw :
(a) [^wkeâwvee (b) efš^efškeâce
(c) nsefueÙeveLeme (d) kegâkegâefye&šdme

54. hesefj[ce& ceW Meeefceue nQ:
(a) keâe@ke&â, keâe@ke&â keâwefcyeÙece Deewj efÉleerÙekeâ keâe@š&skeäme
(b) mebkenveer keâwefcyeÙece kesâ Deboj
(c) keâe@ke&â Deewj efÉleerÙekeâ heäueesSce
(d) keâe@ke&â

55. Skeâ efÉyeerpehe$eer leves ceW Deewj meyemes hegjevee
efÉleerÙekeâ heäueesSce ceewpeto neslee nw
(a) mebkenveer keâwefcyeÙece kesâ "erkeâ yeenj
(b) mebkenveer keâwefcyeÙece kesâ Deboj
(c) ØeeLeefcekeâ heäueesSce kesâ Deboj
(d) efÉleerÙekeâ keâešxkeäme kesâ "erkeâ Deboj

56. mebkenveer SOee efkeYeeefpele neskeâj yeveleer nw :
(a) ØeeLeefcekeâ peeFuece Deewj heäueesSce
(b) kesâkeue kesmeume Deewj š^sefkeâ[dme
(c) ceeOÙeefcekeâ peeFuece Deewj heäueesSce
(d) FveceW mes keâesF& veneR

57. mebkenve keâwefcyeÙece keâer keâesefMekeâeSB efkeYeeefpele neskeâj 
efÉleerÙekeâ Tlekeâ yeveeleer nQ
(a) š^ebmekeme&ueer
(b) Sbšerefkeäueefvekeâueer
(c) mheMe&jsKee mes
(d) jsef[Ùeue ™he mes



58. In Aristolochia elegans the pollen
tetrads are of
(a) Two types (b) Three types

(c) Four types (d) Five types 

59. Tapetal cells are :
(a) Secretory

(b) Glandular

(c) Both (a) and (b)

(d) None of the above

60. In dicots the common type of pollen
tetrads are
(a) Tetrahedral (b) Isobillateral

(c) Linear (d) Decussate

61. The normal type of embryosac
development was studied in :
(a) Polygonum (b) Drusa

(c) Potentilla (d) Capsella

62. The normal type of embryosac is
(a) 8-nucleate, 8 celled 

(b) 8-nucleate, 7 celled

(c) 7-nucleate, 7 celled

(d) 7-nucleate, 8 celled

63. The filiform apparatus is present in :
(a) Synergids

(b) Egg cell

(c) Antipodals

(d) Secondary nucleus

64. In a flowering plant the largest
number of haploid cells occur in :
(a) Microsporangial wall

(b) Nucellus

(c) Megasporangium

(d) Embryo sac

65. The normal Polygonum type embryo
sac is : 
(a) Tetrasporic sixteen nucleate

(b) Monosporic eight-nucleate 

(c) Bisporic-eight-nucleate

(d) Monosporic-four nucleate
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58. SefjmšesueesefÛeÙee SefueieWme ceW hejeie Ûeleg<keâ nesles nQ
(a) oes Øekeâej (b) leerve Øekeâej
(c) Ûeej Øekeâej (d) heebÛe Øekeâej

59. šsheeršue keâesefMekeâeSB nQ :
(a) ßeeJeer
(b) «ebefLeue
(c) oesveeW (a) Deewj (b)

(d) GheÙe&gòeâ ceW mes keâesF& veneR

60. efÉyeerpehe$eer heewOeeW ceW meeceevÙe Øekeâej kesâ hejeie
Ûeleg<keâ nesles nQ
(a) šsš^ens[^ue (b) meceefÉyeeng
(c) jwefKekeâ (d) [skegâmesš

61. meeceevÙe Øekeâej kesâ YeÇtCekeâesMe efkekeâeme keâe DeOÙeÙeve 
efkeâÙee ieÙee Lee:
(a) heesueerieesvece ceW (b) õgmee ceW
(c) heesšWefšuee ceW (d) keâwhmewuee ceW

62. YeÇtCekeâes<e keâe meeceevÙe Øekeâej nw
(a) 8-vÙetefkeäueÙesš, 8 mesue
(b) 8-vÙetefkeäueÙesš, 7 mesue
(c) 7-vÙetefkeäueÙesš, 7 mesue
(d) 7-vÙetefkeäueÙesš, 8 mesue

63. efheâefueheâe@ce& GhekeâjCe ceW ceewpeto nw:
(a) efmeveefpe&[dme
(b) Deb[e keâesefMekeâe
(c) Sbšerhees[ume
(d) ceeOÙeefcekeâ veeefYekeâ

64. heg<heer heeohe ceW meyemes DeefOekeâ mebKÙee ceW DeiegefCele
keâesefMekeâeSB heeÙeer peeleer nQ :
(a) ceeF›eâesmheesjbefieÙeue oerkeej
(b) vÙegmesueme
(c) cesieemheesjQefieÙece
(d) YeÇtCe Lewueer

65. meeceevÙe heesueeieesvece  Øekeâej keâe YeÇtCekeâes<e neslee nw:
(a) šsš^emheesefjkeâ meesuen vÙetefkeäueÙesš
(b) ceesveesmheesefjkeâ Dee"-vÙetefkeäueÙesš
(c) yeeFmheesefjkeâ-Dee"-vÙetefkeäueÙesš
(d) ceesveesmheesefjkeâ-Ûeej vÙetefkeäueÙesš



66. A Polygonum type embryo sac is :
(a) 8 celled and 7-nucleate

(b) 7 celled and 7 nucleate

(c) 8 celled and 8 nucleate

(d) 7 celled and 8 nucleate

67. Stigma of wind pollinated flower is :
(a) smooth

(b) bifid

(c) protruding and hairy

(d) capitate

68. Triple fusion is the term used for
(a) fertilization

(b) double fertilization

(c) parthenocarpy

(d) parthenogensis

69. Phenomenon of double fertilization
was first discovered by :
(a) Strasburgur (b) Amici

(c) P. Maheshwari (d) Nawaschin

70. An example of triploid tissue is :
(a) endosperm (b) ovule

(c) embryo (d) nucellus

71. Perisperm is:
(a) degenerated secondary nucleus

(b) remnant of nucellus

(c) peripheral part of endosperm

(d) degenerated synergids

72. Development of female gamete into a
new individual without fertilization is
called: 
(a) amphimixis 

(b) sporogenesis

(c) parthenocarpy

(d) parthenogenesis

73. Apomixis in plant means development
of a plant:
(a) from stem cuttings

(b) from root cuttings

(c) without fusion of gametes

(d) from fusion of gametes
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66. Skeâ hee@ueerieesvece Øekeâej keâe YeÇtCekeâesMe neslee nw :
(a) 8 mesue Deewj 7-vÙetefkeäueÙesš
(b) 7 mesue Deewj 7 vÙetefkeäueSš
(c) 8 mesue Deewj 8 vÙetefkeäueSš
(d) 7 mesue Deewj 8 vÙetefkeäueSš

67. keeÙeg hejeefiele heg<he keâe keefle&keâe«e nw :
(a) efÛekeâveer
(b) efyeefheâ[
(c) GYeje ngDee Deewj yeeueeW keeuee
(d) keâwefhešsš

68. efš^heue heäÙetpeve Meyo efkeâmekesâ efueS Fmlesceeue efkeâÙee 
peelee nw
(a) efve<esÛeve
(b) [yeue efve<esÛeve
(c) heeLe&sveeskeâeheer&
(d) heeLe&sveespesveefmeme

69. oesnjs efve<esÛeve keâer Iešvee keâer Keespe meke&ØeLece
efkeâmekesâ Éeje keâer ieF& Leer:
(a) mš^emeyeie&j (b) Sceermeer
(c) heer ceensÕejer (d) veJeeefMÛeve

70. ef$eiegefCele Tlekeâ keâe Skeâ GoenjCe nw:
(a) Sb[esmhece& (b) yeerpeeC[
(c) YeÇtCe (d) yeerpeeb[keâeÙe

71. hesjermhece& nw :
(a) heeflele ceeOÙeefcekeâ veeefYekeâ
(b) yeerpeeb[keâeÙe keâe DekeMes<e
(c) YeÇtCehees<e keâe heefjOeerÙe Yeeie
(d) heeflele efmeveefpe&[

72. ceeoe Ùegicekeâ keâe efyevee efve<esÛeve kesâ veS kÙeef<š ceW
heefjkeOe&ve keânueelee nw:
(a) Sefcheâefceefkeämeme
(b) mheesjespesvesefmeme
(c) heeLe&sveeskeâeheer&
(d) heeLe&sveespesvesefmeme

73. Sheesefceefkeämeme heewOes keâe DeLe& nw heewOes keâe efkekeâeme:
(a) mšsce keâefšbie mes
(b) ™š keâefšbie mes
(c) ÙegicekeâeW kesâ mebueÙeve kesâ efyevee
(d) ÙegicekeâeW kesâ mebueÙeve mes



74. Polyembryony is important for plant
breeders because : .
(a) it provides many seeds from a

single generation

(b) all the seeds obtained are healthy

(c) all the seeds are of uniform parental 
type

(d) none of the above

75. The hydathodes are :
(a) Oil secreting glands

(b) Water secreting glands

(c) Mucilage secreting glands

(d) Honey glands
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74. heeohe ØepevekeâeW kesâ efueS yengYeÇtCelee cenlkehetCe& nw
keäÙeeWefkeâ : .
(a) Ùen Skeâ heerÌ{er mes keâF& yeerpe Øeoeve keâjlee nw
(b) Øeehle meYeer yeerpe mkemLe nQ
(c) meYeer yeerpe Skeâmeceeve hewle=keâ Øekeâej kesâ nQ
(d) GheÙe&gòeâ ceW mes keâesF& veneR

75. neF[sLees[ nQ:
(a) lesue œeeefkele «ebefLeÙeeb
(b) peue œeekeer «eefvLeÙeeB
(c) Mues<cee œeeefkele keâjves keeueer «ebefLeÙeeB
(d) Meno «ebefLeÙeeb

Answers

1. (c) 2. (a) 3. (d) 4. (a) 5. (c) 6. (a) 7. (d) 8. (c) 9. (c) 10. (c)

11. (a) 12. (a) 13. (c) 14. (a) 15. (b) 16. (a) 17. (c) 18. (d) 19. (a) 20. (a)

21. (c) 22. (b) 23. (a) 24. (d) 25. (d) 26. (d) 27. (a) 28. (b) 29. (d) 30. (a)

31. (a) 32. (b) 33. (b) 34. (b) 35. (c) 36. (d) 37. (a) 38. (b) 39. (a) 40. (a)

41. (a) 42. (a) 43. (b) 44. (b) 45. (c) 46. (a) 47. (a) 48. (a) 49. (d) 50. (b)

51. (b) 52. (b) 53. (a) 54. (a) 55. (d) 56. (c) 57. (c) 58. (d) 59. (c) 60. (a)

61. (a) 62. (b) 63. (a) 64. (d) 65. (b) 66. (d) 67. (c) 68. (b) 69. (d) 70. (a)

71. (b) 72. (d) 73. (c) 74. (c) 75. (b)



1. Which one is the simplest bryophyte?
(a) Dawsonia (b) Marchantia

(c) Funaria (d) Zoopsis

2. Spores are dispersed only after decay
of thallus in ........ ..
(a) Marchantia (b) Riccia

(c) Anthoceros (d) Funaria

3. Sporophyte of Riccia have ........ ..
(a) Foot, seta and capsule

(b) Only seta

(c) Only capsule (d) Only foot

4. In Marchantia the archegonia are
situated :
(a) On the upper surface of the disc
(b) Below the disc A

(c) In the middle of the disc

(d) On the sides of the disc

5. Female sex organs in Marchantia are
known as :
(a) An elatophore

(b) A rhizophore

(c) An antheridium

(d) An archegonium

6. In Anthoceros, the rhizoids are
(a) smooth walled only

(b) tuberculate only

(c) absent 

(d) both smooth walled and tuberculate

7. In Funaria, paraphysis are present
amongst :
(a) Both antheridia and archegonia 

(b) Only antheridia

(c) Only archegonia

(d) Neither antheridia nor archegonia

8. The Rhynian flora is best seen in :
(a) Devonian period

(b) Carboniferous period

(c) Silurian period

(d) Triassic period
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1. meyemes mejue yeÇeÙeesheâeFš keâewve mee nw ?
(a) [e@meesefveÙee (b) ceÛeXefšÙee
(c) heäÙetvesefjÙee (d) petefhmeme

2. Lewueme kesâ #eÙe kesâ yeeo ner yeerpeeCegDeeW keâe heâwueeke
neslee nw..........
(a) ceÛeXefšÙee ceW (b) efjkeâefmeÙee ceW
(c) SvLeesmesjesme ceW (d) heäÙetvesefjÙee ceW

3. efjefkeämeÙee kesâ mheesjesheâeFš ceW ......... neslee nw~
(a) hewj, Ssše Deewj keâwhmetue
(b) kesâkeue mesše
(c) kesâkeue keâwhmetue
(d) kesâkeue hewj

4. ceekeXâefmeÙee ceW Deefpe&iesefveÙee efmLele nQ:
(a) ef[mkeâ keâer Ghejer melen hej
(b) ef[mkeâ A kesâ veerÛes
(c) ef[mkeâ kesâ yeerÛe ceW
(d) ef[mkeâ kesâ efkeâveejeW hej

5. ceeke&âsefvMeÙee ceW ceeoe peveve Debie keânueeles nQ :
(a) Skeâ Fuesšesheâesj
(b) jeFpeesheâesj
(c) Skeâ hegbOeeveerOej
(d) Skeâ m$eerOeeveerOej

6. SbLesmesjesme ceW cetueeYeeme nesles nQ
(a) kesâkeue efÛekeâveer oerkeej Jeeues
(b) kesâkeue šÙetyejkegâuesšs[
(c) DevegheefmLele
(d) efÛekeâveer oerkeej Deewj šgyejkeäÙetuesš oesveeW

7. heäÙetvesefjÙee ceW, hewjeefheâefmeme FveceW mes ceewpeto nQ:
(a) SLesefjef[Ùee Deewj Deeke&âieesefveÙee oesveeW ceW
(b) kesâkeue SLesefjef[Ùee ceW
(c) kesâkeue m$eerOeeveer ceW
(d) ve lees SLesefjef[Ùee Deewj ve ner Deeefke&âieesefveÙee ceW

8. jeFefveÙee heeÙee peelee nw:
(a) [skeesefveÙeve keâeue ceW
(b) keâeyee&sefveheâsjme keâeue ceW
(c) efmeuegefjÙeve keâeue ceW
(d) š^eFefmekeâ keâeue ceW
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9. In heterosporous pteridophytes the
development of gametophyte is
(a) Exosporic (b) Endosporic

(c) Both (a) and (b) (d) None of these

10. In Selaginella the spores are of :
(a) One type (b) Two types

(c) Three types (d) None of these

11. Spores of pteridophytes are :
(a) Haploid (b) Diploid

(c) Triploid (d) Tetraploid

12. Heterospory means presence of :
(a) One types of spores

(b) Two types of spores

(c) Three types of spores

(d) None of these

13. Two layered endodermis is present in
the root of:
(a) Pteris

(b) Equisetum

(c) Selaginella 

(d) Hymenophyllum

14. In which of the following elatered
spores are found?
(a) Selaginella (b) Ephedra

(c) Equisetum (d) Marsilea

15. “Sago” is obtained from :
(a) Cycas (b) Pinus

(c) Ephedra (d) Gnetum

16. Terpentine oil is obtained from
(a) Cycas (b) Pinus

(c) Ephedra (d) Ginkgo

17. The tracheids of Cycas are:
(a) With uniseriate bordered pits

(b) With biseriate bordered pits

(c) With multiseriate bordered pits

(d) Without bordered pits

18. Which plant is known as Sago-Palm?
(a) Cycas revoluta

(b) Cycas circinalis

(c) Cycas rumphi 

(d) Cycas pectinata
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9. nsšsjesmheesjme šsefj[esheâeFšdme ceW iewcesšesheâeFš keâe
efkekeâeme neslee nw
(a) Skeämeesmheesefjkeâ
(b) Sb[esmheesefjkeâ
(c) oesveeW (a) Deewj (b)

(d) FveceW mes keâesF veneR

10. mesueeefpevesuee ceW yeerpeeCeg nesles nQ:
(a) Skeâ Øekeâej kesâ (b) oes Øekeâej kesâ
(c) leerve Øekeâej kesâ (d) FveceW mes keâesF& veneR

11. šsefj[esheâeFšdme kesâ yeerpeeCeg nQ:
(a) nwhueesF[ (b) ef[hueesF[
(c) efš^heueesF[ (d) šsš^ehueesF[

12. nsšsjesmheesjer keâe DeLe& nw GheefmLeefle:
(a) Skeâ Øekeâej kesâ yeerpeeCeg
(b) oes Øekeâej kesâ yeerpeeCeg
(c) leerve Øekeâej kesâ yeerpeeCeg
(d) FveceW mes keâesF& veneR

13. oes mleefjle Sb[es[efce&Me efkeâmekeâer peÌ[ ceW ceewpeto nw:
(a) šsefjme (b) Fefkeäkemesšce
(c) mesueeefpevesuee (d) neFceveesefheâuece

14. efkeâmeceW Fuesšj Jeeues yeerpeeCeg heeÙes peeles nw:
(a) mesueeefpevesuee (b) Sheâs[^e 
(c) Fefkeäkemesšce (d) ceeefme&efueÙee

15. ‘meeyetoevee' Øeehle neslee nw :
(a) meeFkeâme mes (b) heeFveme mes
(c) Sheâs[^e mes (d) vesšce mes

16. leejheerve keâe lesue Øeehle neslee nw
(a) meeFkeâme mes (b) heeFveme mes
(c) Sheâs[^e mes (d) efpevkeâiees mes

17. meeFkeâme keâer keeefnefvekeâeSB nQ:
(a) Skeâlejheâe meercee keeues ieºeW kesâ meeLe
(b) efÉYeeefpele yee@[&j keeues ieºeW kesâ meeLe
(c) ceušermesefjSš yee@[&j keeues ieºeW kesâ meeLe
(d) meerceeyeæ ieºeW kesâ efyevee

18. keâewve-mee heewOee mesiees heeBce keânueelee nw
(a) meeFkeâme efjkeesuegše
(b) meeFkeâme meefke&âvesefueme
(c) meeFkeâme ®cheâer
(d) meeFkeâme hesefkeäšveeše



19. Chilgoza (used as dry fruit) is obtained 
from: '
(a) Pinus roxburgai (b) Pinus exelsa

(c) Pinus girardiana (d) Pinus khassia

20. Which are known as Chir tree :
(a) Cycas (b) Pinus

(c) Ephedra (d) Gnetum

21. Transfusion tissue are found in leaves
of:
(a) Cycas (b) Pinus

(c) Rhynia (d) Ephedra

22. Floating roots are the feature of :
(a) Jussiaea (b) Trapa

(d) Parwal (d) Tinospora

23. Lateral roots arise :
(a) Exogenously

(b) Endogenously

(c) Partly endogenously and partly
exogenously

(d) Sucking roots

24. Which type of roots are found in Piper
betle
(a) Climbing roots (b) Root butress

(c) Sucking roots (d) None of these

25. Rootless angiosperm is :
(a) Lemna (b) Spirodella

(c) Wolffia (d) Podostemon

26. Soil binding roots are found in:
(a) Sugarcanes (b) Maize

(c) Grasses (d) Dicots

27. What part of potato is eaten?
(a) Leaf (b) Fruit

(c) Stem (d) Flower

28. Which type of stem is found in
Opuntia?
(a) Phyllode (b) Cladode

(c) Phylloclade (d) Scape

29. Opposite phyllotaxy is found in :
(a) Calotropis 

(b) Mango

(c) Hibiscus rosa-sinensis

(d) Quisqualis
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19. efÛeueieespee (metKes ceskes kesâ ™he ceW ØeÙeesie efkeâÙee
peelee nw) efkeâmemes Øeehle efkeâÙee peelee nw:
(a) heeFveme je@keämekeâeF& (b) efheveme Skeämesuemee
(c) heerveme efiejeef[&Ùeevee (d) heerveme KeefmeÙee

20. ÛeerÌ[ kesâ hesÌ[ kesâ veece mes peeves peeles nQ:
(a) meeFkeâme keâer (b) heeFveme keâer
(c) Sheâs[^e keâer (d) vesšce keâer

21. DeeOeeve Tlekeâ heefòeÙeeW ceW heeS peeles nQ:
(a) meeFkeâme (b) heeFveme keâer
(c) jeFefveÙee (d) Sheâs[^e keâer

22. lewjleer peÌ[eW keâer efkeMes<elee nw :
(a) petefmeÙee (b) š^whee
(d) hejkeue (c) šerveesmheesje

23. heeÕe& peÌ[W GlheVe nesleer nQ :
(a) yeenjer ™he mes
(b) Deblepee&le
(c) DeebefMekeâ ™he mes Deblepee&le Deewj DeebefMekeâ ™he

mes yeefnpee&le
(d) Ûetmeves keeueer peÌ[W

24. heeFhej yeeršue ceW efkeâme Øekeâej keâer peÌ[W heeF& peeleer nQ
(a) ÛeÌ{eF& peÌ[W (b) ™š yešjsme
(c) Ûetmeves keeueer peÌ[W (d) FveceW mes keâesF& veneR

25. peÌ[efkenerve SbefpeÙeesmhece& nw :
(a) uescvee (b) mheeFjes[suee
(c) keesefuheâÙee (d) hees[esmšsceesjve

26. efceóer keâes yeebOeves keeueer peÌ[W heeF& peeleer nQ:
(a) ieVee ceW (b) cekeäkeâe ceW
(c) Ieeme ceW (d) efÉyeerpehe$eer ceW

27. Deeuet keâe keâewve-mee Yeeie KeeÙee peelee nw?
(a) heòee (b) heâue
(c) mšsce (d) heâtue

28. DeeshebefšÙee ceW efkeâme Øekeâej keâe levee heeÙee peelee nw?
(a) heâeFuees[ (b) keäuew[es[
(c) efheâuueeskeäues[ (d) mkesâhe

29. efkehejerle heâeFueesšwkeämeer heeÙee peelee nw :
(a) keâwueesš^esefheme ceW
(b) Deece ceW
(c) efnefyemkeâme jespee-meeFveWefmeme ceW
(d) efkeäkemkeäkeeefueme ceW



30. In which of the following whole leaf is
modified into tendril:
(a) Pisum sativum 

(b) Lathyrus aphaca

(c) Gloriosa (d) Dischidia

31. First few leaves on a stem, different
from other leaves are called :
(a) Prophylls (b) Sporophylls

(c) Cataphylls (d) Hypsophylls

32. Coloured bracts in Bougainvillia are
called :
(a) Hypsophylls (b) Sporophylls

(c) Cataphylls (d) Prophylls

33. Histogen theory was proposed by
(a) Nageli (b) Hanstein

(c) Glowed (d) Steward

34. Cells of quiescent centre may be
stimulated for division by :
(a) Surgical treatments

(b) Cold treatments

(c) Radiation

(d) All of these

35. The parenchymatous tissue is :
(a) Dead

(b) Thin-walled and living

(c) Thick-walled

(d) Made up of cellulose

36. The distinguishing character of open
vascular bundles is
(a) Presence of cambium

(b) Presence of pericycle

(c) Presence of xylem and phloem

(d) Presence of endodermis

37. Endodermal cells can be distinguished
by the presence of :
(a) Elongated cells

(b) Barrel shaped cells

(c) Cambium cells

(d) Thin-walled cells
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30. efvecveefueefKele ceW mes efkeâmeceW hetjer heòeer šWef[^ue ceW
yeoue peeleer nw:
(a) heeFmece mewefškece (b) uewefLejme Deheekeâe
(c) iueesefjÙeesmee (d) ef[efmkeâef[Ùee

31. leves hej henues kegâÚ heòes, pees DevÙe heòeeW mes efYeVe
nesles nQ, keânueeles nQ:
(a) Øeesefheâume (b) mheesjesefheâume
(c) keâwšeefheâume (d) neFheesefheâume

32. yeesiesveefkeefueÙee ceW jbieerve menhe$e keânueeles nQ:
(a) neFheesefheâume (b) mheesjesefheâume
(c) keâwšeefheâume (d) Øeesefheâume

33. efnmšespeve efmeæeble efkeâmekesâ Éeje Øemleeefkele efkeâÙee
ieÙee Lee
(a) veiesueer
(b) nWmšerve
(c) iuees[
(d) mšerke[&

34. keäJesmesvš mesvšj keâer keâesefMekeâeDeeW keâes efkeYeepeve kesâ
efueS Øesefjle efkeâÙee pee mekeâlee nw:
(a) meefpe&keâue GheÛeej mes
(b) Meerle GheÛeej mes
(c) efkeefkeâjCe mes
(d) Ùes meYeer

35. ce=otlekeâ Tlekeâ nw :
(a) Skeâ ce=le
(b) heleueer oerkeej keeueer Deewj peerefkele
(c) ceesšer oerkeej keeueer
(d) mesuÙegueespe keâe yevee neslee nw

36. Kegues mebkenve yeb[ueeW keâer efkeefMe<š efkeMes<elee nw
(a) kewâefcyeÙece keâer GheefmLeefle
(b) hesjermeeFefkeâue keâer GheefmLeefle
(c) peeFuece Deewj heäueesSce keâer GheefmLeefle
(d) Sb[es[efce&me keâer GheefmLeefle

37. Sb[es[ce&ue keâesefMekeâeDeeW keâes efkeâmekeâer GheefmLeefle mes
henÛeevee pee mekeâlee nw:
(a) uecyeer keâesefMekeâeSb
(b) yewjue kesâ Deekeâej keâer keâesefMekeâeSB
(c) keâwefcyeÙece keâesefMekeâeSb
(d) heleueer oerkeej keeueer keâesefMekeâeSb



38. Tissue are :
(a) A group of cells which are similar

in origin and function

(b) Organs which are similar in origin
and function

(c) Cells which are not similar in origin

(d) Group of cells which are not similar
in function

39. Conjoint, bicollateral, open vascular
bundles arranged in two rings are
characteristics of :
(a) Lagenaria (b) Cocos

(c) Asparagus (d) Yucca

40. Schizolysegenous cavity is found:
(a) In xylem of dicot stem

(b) In xylem of monocot stem

(c) In xylem of dicot root

(d) In xylem of monocot root

41. In which character a monocot root
differs from a dicot root:
(a) Open vascular bundle

(b) Scattered vascular bundles

(c) Large pith

(d) Radial vascular bundles

42. Lateral roots arise from:
(a) Cortex (b) Endodermis

(c) Cork cambium (d) Pericycle

43. Dermatogen gives rise to :
(a) Epidermis (b) Cortex

(c) Ground tissue  

(d) Vascular bundle

44. Root hairs are present in :
(a) Meristematic zone

(b) Elongation zone

(c) Maturation zone

(d) Root cap zone

45. The cambium formed between two
vascular bundles at the time of
secondary growth is known as :
(a) Cambial ring

(b) Intrafascicular cambium

(c) Fascicular cambium

(d) Interfascicular cambium
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38. Tlekeâ nQ:
(a) keâesefMekeâeDeeW keâe Skeâ mecetn pees cetue Deewj

keâeÙe& ceW meceeve nQ
(b) Debie pees cetue Deewj keâeÙe& ceW meceeve nQ
(c) keâesefMekeâeSb pees cetue ceW meceeve veneR nQ
(d) keâesefMekeâeDeeW keâe mecetn pees keâeÙe& ceW meceeve

veneR nQ

39. oes keueÙeeW ceW kÙekeefmLele mebÙegòeâ, efÉmebheeefÕe&keâ,
Kegues mebkenveer yeb[ue keâer efkeMes<eleeSb nQ:
(a) ueiesvesefjÙee keâer (b) keâeskeâesme keâer
(c) Meleekejer keâer (d) Ùegkeäkeâe keâer

40. efMepeesefuemepesveme iegne heeF& peeleer nw :
(a) efÉyeerpehe$eer leves kesâ peeFuece ceW
(b) Skeâ yeerpehe$eer kesâ peeFuece ceW
(c) efÉyeerpehe$eer peÌ[ kesâ peeFuece ceW
(d) Skeâyeerpehe$eer peÌ[ kesâ peeFuece ceW

41. efkeâme ue#eCe ceW Skeâyeerpehe$eer peÌ[ Skeâ efÉyeerpehe$eer 
peÌ[ mes efYeVe nesleer nw:
(a) Keguee mebkenveer yeb[ue
(b) efyeKejs ngS mebkenveer yeb[ue
(c) yeÌ[e efheLe
(d) jsef[Ùeue mebkenveer yeb[ue

42. heeÕe& peÌ[W GlheVe nesleer nQ:
(a) keâe@š&skeäme mes (b) Sb[es[sefveme mes
(c) keâe@ke&â keâwefcyeÙece mes (d) hesjermeeFefkeâue mes

43. [cee&šespesve GlheVe keâjlee nw:
(a) Sefhe[efce&me
(b) keâe@š&skeäme
(c) peceerve kesâ Tlekeâ
(d) mebkenveer yeb[ue

44. cetue jesce ceewpeto nesles nQ:
(a) cesefjmšscewefškeâ Ìpeesve ceW
(b) FueesiesMeve #es$e ceW
(c) heefjhekeäkelee #es$e ceW
(d) ™š keâwhe peesve ceW

45. efÉleerÙekeâ ke=efæ kesâ meceÙe oes mebkenveer yeb[ueeW kesâ
yeerÛe yeveves keeues keâwefcyeÙece keâes keâne peelee nw:
(a) keâwefcyeÙeue efjbie
(b) Fbš^eheâwefmekegâuej keâwefcyeÙece
(c) hetefuekeâe keâQefyeÙece
(d) Fbšjheâwefmekegâuej keâwefcyeÙece



46. Autumn wood can be distinguished
from Spring wood by
(a) Broad vessels and tracheids

(b) Narrow vessels and tracheids

(c) Red colour of xylem

(d) By cambium

47. Alburnum or sap-wood differ from
duramen or heart-wood in being
(a) Darker in colour

(b) Lighter in colour

(c) Without xylem

(d) None of the above

48. Hocky sticks are prepared from the
wood of :
(a) Acacia arabica

(b) Terminalia arjuna

(c) Morus alba 

(d) Delbergia latifolia

49. Black wood tree of India is :
(a) Acacia arabica

(b) Dalbergia sisoo

(c) Dalbergia latifolia

(d) Mangiféra indica

50. Fascicular cambium is absent in :
(a) Maize

(b) Dracaena

(c) Cucurbits

(d) (a) and (b) both

51. The compound pollen grains are
present in
(a) Juncus 

(b) Cryoptostegia

(c) Drosera

(d) All of the above

52. The pollinia are present in :
(a) Calotropis

(b) Asclepias

(c) Orchids 

(d) All of the above

53. Male gametes are formed from :
(a) Generative cell (b) Tube cell

(c) Body cell (d) Prothallial cell
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46. Mejo $e+leg keâer uekeâÌ[er keâes kemeble keâer uekeâÌ[er mes
Deueie efkeâÙee pee mekeâlee nw
(a) kÙeehekeâ JeeefnkeâeDeeW Deewj š^sefkeâ[dme
(b) JeeefnkeâeDeeW Deewj š^skeâef[ keâes mebkeâerCe& keâjlee nw
(c) peeFuece keâe ueeue jbie
(d) keâQefyeÙece Éeje

47. Deuyeve&cece Ùee mewhe-keg[ [Ÿetjecesve Ùee neš&-keg[ mes
Deueie nw
(a) jbie ceW ienje
(b) jbie ceW nukeâe
(c) efyevee peeFuece kesâ
(d) GheÙe&gòeâ ceW mes keâesF& veneR

48. ne@keâer efmškeâ efkeâmekeâer uekeâÌ[er mes lewÙeej keâer peeleer
nw?
(a) yeyetue Dejsefyekeâe
(b) šefce&veefueÙee Depe&gve
(c) ceescme Deuyee
(d) [sueyeefie&Ùee uewefšheâesefueÙee

49. Yeejle keâe keâeuee keâe… ke=#e nw :
(a) yeyetue Dejsefyekeâe
(b) [eueyeefie&Ùee efmemet
(c) [eueyeefie&Ùee uewefšheâesefueÙee
(d) cebefieheâsje Fbef[keâe

50. hetefuekeâe kesâbefyeÙece DevegheefmLele neslee nw :
(a) cekeäkeâe
(b) [^wkesâvee
(c) kegâkeâjefyešdme
(d) (a) Deewj (b) oesveeW

51. Ùeewefiekeâ hejeiekeâCe GheefmLele nesles nQ
(a) pebkeâme
(b) ›eâeÙeeshšesmšsefieÙee
(c) [^esmesje
(d) Ghejesòeâ meYeer

52. heesefueefveÙee ceewpeto nesles nQ:
(a) keâwueesš^esefheme ceW
(b) SmkeäuesheÌpeme ceW
(c) Dee@efke&â[ ceW
(d) GheÙe&gòeâ meYeer

53. vej Ùegicekeâ yeveles nQ :
(a) pevejsefške mesue mes
(b) šŸetye mesue mes
(c) yee@[er mesue mes
(d) ØeesLesefueÙeue mesue mes



54. Who developed sporophyte from
pollen grains in Datura innoxia? 
(a) Strassburger

(b) Mohan Ram

(c) Guha and Maheshwari

(d) P.S. Ram Krishna

55. ‘An orthotropous ovule is one is which
micropyle and chalaza are :
(a) Oblique to funiculus

(b) At right angles to funiculus

(c) In straight line with funiculus

(d) Parallel to funiculus

56. Synergids are :
(a) Haploid (b) Diploid

(c) Triploid (d) Tetraploid

57. In Pea, the ovule is
(a) Hemianatropous 

(b) Amphitropous

(c) Anatropous

(d) Campylotropous

58. Part of gynoecium which receives the
pollen is known as :
(a) Style (b) Ovary

(c) Stigma (d) Ovule

59. Perisperm is the remain of :
(a) Archegonium (b) Nucellus

(c) Integuments (d) Endosperm

60. The embryo sac of a typical dicot at the 
time of fertilization is :
(a) 8 celled (b) 5-celled

(c) 6 celled (d) 7-celled

61. Cross pollination is beneficial because
it is helpful in :
(a) formation of male flowers

(b) formation of better progeny

(c) in withering of sepals and petals

(d) information of female flowers

62. In angiosperms after fertilization the
zygote develops into :
(a) endosperm (b) embryo

(c) cotyledons (d) plumule

33

Practice Set 4

54. Oeletje Fvee@efkeämeÙee ceW hejeiekeâCeeW mes mheesjesheâeFš
keâe efkekeâeme efkeâmeves efkeâÙee?
(a) mš^emeyeie&j
(b) ceesnve jece
(c) iegne Deewj ceensÕejer
(d) heer.Sme. jece ke=â<Ce

55. 'Skeâ Dee@Lee&sš^esheme DeeskÙetue ken nw efpemeceW
ceeF›eâesheeFue Deewj ÛeeueeÌpee nesles nQ:
(a) heäÙetefvekegâueme kesâ efueS Deesefyuekeâ
(b) heâveerkegâueme kesâ mecekeâesCe hej
(c) yeerpeeb[hegbpe kesâ meeLe meerOeer jsKee ceW
(d) yeerpeeb[hegbpe kesâ meceeveeblej

56. efmevepeer&[dme nQ:
(a) nwhueesF[
(b) ef[hueesF[
(c) efš^heueesF[
(d) šsš^ehueesF[

57. cešj ceW yeerpeeb[ neslee nw
(a) nsefceÙeevesš^esheme (b) Scheâerš^esheme
(c) Sveeš^esheme (d) keâQefheueesš^e@heme

58. peeÙeebie keâe ken Yeeie pees hejeie Øeehle keâjlee nw,
keânueelee nw :
(a) Jeefle&keâe (b) Deb[eMeÙe
(c) Jeefle&keâe«e (d) Deb[ekeâej

59. hesefjmhece& DekeMes<e nw :
(a) Deeke&âieesefveÙece keâe (b) vÙegmesueme keâe
(c) DeOÙeekejCe keâe (d) YeÇtCehees<e keâe

60. efve<esÛeve kesâ meceÙe Skeâ Øee™efhekeâ efÉyeerpehe$eer keâe
YeÇtCekeâesMe neslee nw :
(a) 8 mesue (b) 5 mesue
(c) 6 mesue (d) 7 mesue

61. hej hejeieCe heâeÙeoscebo nw keäÙeeWefkeâ Ùen FmeceW
meneÙekeâ nw:
(a) vej heâtueeW keâe efvecee&Ce
(b) yesnlej mebleeve keâe ie"ve
(c) yee¢eoue Deewj hebKegÌ[er kesâ cegjPeeves ceW
(d) ceeoe heâtueeW keâer peevekeâejer

62. SbefpeÙeesmhece& ceW efve<esÛeve kesâ yeeo Ùegicevepe efkekeâefmele 
neslee nw:
(a) Sb[esmhece& ceW (b) YeÇtCe ceW
(c) yeerpehe$e ceW (d) Øeebkegâj ceW



63. In angiosperms the secondary nucleus
after fusion with one gemete i.e, after
double fertilization results in the
formation of :
(a) endospern (b) embryo

(c) cotyledons (d) plumule

64. Who discovered double fertilization in
angiosperm?
(a) Nawaschin (b) S. R. Kashyap

(c) Maheshwari (d) Strasburger

65. The first division of zygote in Capsella
is :
(a) vertical (b) horizontal

(c) diagonal (d) none of these

66. Ruminate endosperm is :
(a) smooth (b) diploid

(c) rough (d) tetraploid

67. If the number of chromosomes in the
root tip of a plant is 36, what would be
their number in its endosperm?
(a) 36 (b) 54

(c) 72 (d) 108

68. Nucellar embryo is:
(a) apomictic haploid

(b) amphimictic haploid

(c) apomictic diploid

(d) amphimictic diploid 

69. Generative apospory is:
(a) development of embryo from the

diploid cells of the archesporium

(b) development of embryo from the
cells of nucellus or integument

(c) development of diploid embryo by
fusion of one male gamete with the
egg

(d) none of the above

70. In non-endospermic seeds, food is
stored in:
(a) chalazosperm (b) cotyledons

(c) perisperm (d) embryo sac

71. Proteinaceous endosperm of maize is
called :
(a) apopysis (b) scutellum

(c) aleurone layer (d) epicotyl
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63. Deeke=òeyeerpeer ceW efÉleerÙekeâ kesâvõkeâ Skeâ Ùegicekeâ kesâ
meeLe mebueÙeve kesâ yeeo DeLee&le oesnjs efve<esÛeve kesâ
yeeo yevelee nw:
(a) Sb[esmhece& (b) YeÇtCe
(c) yeerpehe$e (d) Øeebkegâj

64. SbefpeÙeesmhece& ceW oesnjs efve<esÛeve keâer Keespe efkeâmeves
keâer?
(a) vekeeefMeve (b) Sme Deej keâMÙehe
(c) ceensÕejer (d) mš^wmeyeie&j

65. keâwhmewuee ceW Ùegicevepe keâe ØeLece efkeYeepeve nw:
(a) uebyekele
(b) #eweflepe
(c) efkekeâCe&
(d) GheÙe&gòeâ ceW mes keâesF& veneR

66. ™efcevesš Sb[esmhece& nw:
(a) efÛekeâveer (b) efÉiegefCele
(c) Kegjoje (d) šsš^ehueesF[

67. Ùeefo efkeâmeer heewOes kesâ cetuee«e ceW iegCemet$eeW keâer mebKÙee
36 nw, lees Gmekesâ YeÇtCehees<e ceW Gvekeâer mebKÙee keäÙee
nesieer?
(a) 36 (b) 54

(c) 72 (d) 108

68. veeefYekeâerÙe YeÇtCe nw:
(a) Sheesefceefkeäškeâ nwhueesF[
(b) Sefcheâefcekeâefškeâ DeiegefCele
(c) Sheesefceefkeäškeâ efÉiegefCele
(d) Sefcheâefcekeâefškeâ efÉiegefCele

69. pevejsefške Sheesmheesjer nw:
(a) Deeefke&âmheesefjÙece kesâ efÉiegefCele keâesefMekeâeDeeW mes

YeÇtCe keâe efkekeâeme
(b) yeerpeeb[keâeÙe Ùee DeOÙeekejCe keâer keâesefMekeâeDeeW

mes YeÇtCe keâe efkekeâeme
(c) Deb[s kesâ meeLe Skeâ vej Ùegicekeâ kesâ mebueÙeve mes 

efÉiegefCele YeÇtCe keâe efkekeâeme
(d) GheÙe&gòeâ ceW mes keâesF& veneR

70. iewj-Sb[esmheefce&keâ yeerpeeW ceW, Yeespeve meb«enerle neslee
nw:
(a) Ûeeuepeesmhece& (b) yeerpehe$e
(c) hesjermhece& (d) YeÇtCe keâesMe

71. cekeäkeâe keâe ØeesšerveÙegòeâ YeÇtCehees<e keânueelee nw :
(a) Sheesefheefmeme (b) mkegâšsueceve
(c) SuÙegjesve hejle (d) SefhekeâesšeFue



72. Development of fruit without
fertilization :
(a) Parthenogenesis (b) Parthenocarpy

(c) Agamospermy (d) Heterostyly

73. Who discovered fertilization :
(a) Nawaschin (b) Strassburger

(c) Leeuwenhoek (d) Robert Hook

74. More than one embryo per embryo sac 
is found, it is called :
(a) Embryogeny (b) Amphimixis

(c) Agamospermy (d) Polyembryony

75. Generally the number of integuments
in the ovule of angiosperms and
gymnosperms are :
(a) One and two (b) One and one

(c) Two and one (d) Two and two
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72. efyevee efve<esÛeve kesâ heâue keâe efkekeâeme keânuelee nw:
(a) heeLe&sveespesvesefmeme (b) heeLe&sveeskeâeheer&
(c) Deieeceesmheceer& (d) nsšsjesmšerueer

73. efve<esÛeve keâer Keespe efkeâmeves keâer :
(a) vekeemeefÛeve
(b) mš^wmeyeie&j
(c) uÙetkesveneskeâ
(d) je@yeš& ngkeâ

74. Øeefle YeÇtCekeâes<e ceW Skeâ mes DeefOekeâ YeÇtCe heeS peeles nQ, 
Fmes keânles nQ :
(a) YeÇtCepevÙe (b) Sefcheâefceefkeämeme
(c) Deieeceesmheceer& (d) yengYeÇtCelee

75. Deeceleewj hej SbefpeÙeesmhece& Deewj efpecveesmhece& kesâ
yeerpeeb[ ceW DeOÙeekejCe keâer mebKÙee nesleer nw:
(a) Skeâ Deewj oes (b) Skeâ Deewj Skeâ
(c) oes Deewj Skeâ (d) oes Deewj oes

Answers

1. (d) 2. (b) 3. (c) 4. (a) 5. (d) 6. (a) 7. (a) 8. (a) 9. (b) 10. (b)

11. (a) 12. (b) 13. (b) 14. (c) 15. (a) 16. (b) 17. (a) 18. (a) 19. (c) 20. (b)

21. (b) 22. (a) 23. (b) 24. (a) 25. (c) 26. (c) 27. (c) 28. (c) 29. (a) 30. (b)

31. (a) 32. (a) 33. (b) 34. (d) 35. (b) 36. (a) 37. (b) 38. (a) 39. (a) 40. (b)

41. (c) 42. (d) 43. (a) 44. (c) 45. (d) 46. (b) 47. (b) 48. (c) 49. (a) 50. (d)

51. (d) 52. (d) 53. (a) 54. (c) 55. (c) 56. (a) 57. (d) 58. (c) 59. (b) 60. (d)

61. (b) 62. (b) 63. (a) 64. (a) 65. (b) 66. (c) 67. (b) 68. (c) 69. (a) 70. (b)

71. (c) 72. (b) 73. (b) 74. (d) 75. (c)



1. Which one is the largest bryophyte?
(a) Funaria (b) Dawsonia 

(c) Zoopsis (d) Marchantia

2. Antheridium of Riccia is ........ ..
(a) Unicellular (b) Multicellular

(c) Twenty celled (d) None of these

3. Riccia is a bryophyte because .............
(a) It is terrestrial and have motile

sperms

(b) It has heteromorphic type of
alternation of generation

(c) It has multicellular sex organs
which has sterile jacket tissues

(d) None of the above

4. A dioecious gametophyte is seen in the
case of:
(a) Funaria (b) Riccia

(c) Marchantia (d) Anthoceros

5. A sporophyte of Marchantia is
enveloped by:
(a) One protective sheath

(b) Two protective sheaths

(c) Three protective sheaths

(d) Four protective sheaths

6. True elaters are found in the
sporophyte of
(a) Riccia (b) Marchantia

(c) Anthoceros (d) Funaria

7. Gemma Cup is found in:
(a) Marchantia (b) Anthoceros

(c) Riccia (d) Sphagnum

8. Venter of archegonium in Funaria
has:
(a) double-layered jacket and an egg

only

(b) Double-layered jacket and a venter
canal cell only

(c) Double layered jacket and an egg
and a venter canal cell

(d) single-layered jacket and an egg
and a venter canal cell
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1. meyemes yeÌ[e yeÇeÙeesheâeFš keâewve mee nw ?
(a) heäÙetvesefjÙee (b) [e@meesefveÙee
(c) Ìpetefhmeme (d) ceekeXâefmeÙee

2. efjefkeämeÙee keâe SLesefjef[Ùece ......... nw~
(a) SkeâkeâesefMekeâerÙe (b) yengkeâesefMekeâerÙe
(c) yeerme mesue (d) FveceW mes keâesF& veneR

3. efjefkeämeÙee Skeâ yeÇeÙeesheâeFš nw keäÙeeWefkeâ ...........
(a) Ùen mLeueerÙe nw Deewj ieefleMeerue Meg›eâeCeg nQ
(b) FmeceW heerÌ{er kesâ SkeâevlejCe keâe nsšjesceesefhe&âkeâ

Øekeâej nw
(c) FmeceW yengkeâesefMekeâerÙe peveve Debie nQ efpeveceW

yeeBPe pewkeâš Tlekeâ nQ
(d) GheÙe&gòeâ ceW mes keâesF& veneR

4. Skeâ efÉefuebieer ÙegicekeâesoefYeo heeÙee peelee nw:
(a) heäÙetvesefjÙee ceW (b) efjkeâefmeÙee ceW
(c) ceekeXâefmeÙee ceW (d) SbLeesmesjesme ceW

5. ceekeXâefmeÙee keâe mheesjesheâeFš efIeje neslee nw:
(a) Skeâ megj#eelcekeâ DeeJejCe mes
(b) oes megj#eelcekeâ DeeJejCe mes
(c) leerve megj#eelcekeâ DeekejCe mes
(d) Ûeej megj#eelcekeâ DeeJejCe mes

6. š^t Fuesšme& efkeâmekesâ mhejesheâeFš ceW heeS peeles nQ
(a) efjefkeämeÙee (b) ceekeXâefmeÙee
(c) SvLeesmesmesme (d) heäÙetvesefjÙee

7. pesccee keâhe heeÙee peelee nw:
(a) ceekeXâefmeÙee
(b) SbLeesmesjesme
(c) efjefkeämeÙee
(d) mhewâievece

8. heäÙetvesefjÙee ceW m$eerOeeveer kesâ keWšj ceW nw:
(a) [yeue uesÙej pewkesâš Deewj kesâkeue Skeâ Deb[
(b) [yeue-uesÙej pewkesâš Deewj kesâkeue Skeâ keWšj

keâwveeue mesue
(c) [yeue uesÙej pewkesâš Deewj Skeâ Deb[ Deewj Skeâ 

keWšj keâwveeue mesue
(d) efmebieue-uesÙej pewkesâš Deewj Deb[s Deewj Skeâ

keWšj kewâveeue mesue



9. Which of the following is not common
in Funaria and Selaginella?
(a) Roots (b) Archegonium

(c) Embryo (d) Motile sperms

10. A moss differs from a fern in having :
(a) Swimming sperms

(b) A dependent sporophyte

(c) An independent gametophyte

(d) Alternation of generation

11. Peristomial teeth help in :
(a) Storage of spores

(b) Dispersal of spore

(c) Regulation of spores

(d) Formation of spores

12. Which of the following plants are
considered as the ancestors of vascular 
plants?
(a) Rhynia (b) Psilophyton

(c) Asteroxylon (d) All of these 

13. Heterospory is found in :
(a) Selaginella (b) Marsilea

(c) Isoetes (d) All the above

14. Seed habit is found in :
(a) Marsilea (b) Selaginella

(c) Equisetum (d) Rhynia

15. Ephedrine is obtained from:
(a) Cycas (b) Pinus

(c) Ephedra (d) Cedrus

16. Timber is obtained from :
(a) Cycas (b) Cedrus

(c) Ephedra (d) Zammia

17. Which of the following conditions
found in Cycas is also found in Pteris:
(a) Naked ovules

(b) Circinate vernation of leaves

(c) Presence of coralloid roots

(d) Presence of secondary growth

18. The wood of Cycas consists of:
(a) Tracheids only

(b) Vessels only

(c) Equal number of tracheids and vessels

(d) More of tracheids and less of vessels

37

Practice Set 5

9. efvecveefueefKele ceW mes keâewve heäÙetvesefjÙee Deewj
mesueeefpevesuee ceW Skeâmeceeve veneR nw?
(a) peÌ[W (b) Deeke&âieesefveÙece
(c) YeÇtCe (d) ceesšeFue Meg›eâeCeg

10. Skeâ cee@me Skeâ heâve& mes efYeVe nesleer nw:
(a) lewjves keeues Meg›eâeCeg ceW
(b) Skeâ Deeefßele mheesjesheâeFš ceW
(c) Skeâ mkeleb$e iewcesšesheâeFš ceW
(d) heerÌ{er SkeâevlejCe ceW

11. hesefjmšesefceÙeue oeble efkeâmeceW ceoo keâjles nQ:
(a) yeerpeeCegDeeW keâe Yeb[ejCe
(b) yeerpeeCeg keâe heâwueeke
(c) yeerpeeCegDeeW keâe efveÙeceve
(d) yeerpeeCegDeeW keâe yevevee

12. efvecveefueefKele ceW mes efkeâme heewOes keâes mebkenveer heewOeeW
keâe hetke&pe ceevee peelee nw?
(a) jeFefveÙee (b) meeFueesheâeFšve
(c) SsmšjesepeeFueesve (d) Ùes meYeer

13. nsšsjesmheesjer heeÙee peelee nw:
(a) mesueeefpevesuee ceW (b) ceeefme&efueÙee ceW
(c) DeeFmeesmesšdme ceW (d) Ghejesòeâ meYeer 

14. yeerpe mJeYeeJe heeÙeer peeleer nw :
(a) ceeefme&efueÙee ceW (b) mesueeefpevesuee ceW
(c) Fefkeäkemesšce ceW (d) jeFefveÙee ceW

15. Sheâsef[^ve Øeehle efkeâÙee peelee nw:
(a) meeFkeâme mes (b) heeFveme mes
(c) Sheâs[^e mes (d) mes[jme mes

16. Fceejleer uekeâÌ[er Øeehle nesleer nw :
(a) meeFkeâme mes (b) efme[jme mes
(c) Sheâs[^e mes (d) peeefceÙee mes

17. meeFkeâme ceW heeÙeer peeves keeueer efvecveefueefKele ceW mes
keâewve-meer efmLeefle šsefjme ceW Yeer heeÙeer peeleer nw :
(a) veive yeerpeeC[
(b) heefòeÙeeW meefme&vesš Jevexmeve
(c) keâesjuee@F[ peÌ[eW keâer GheefmLeefle
(d) efÉleerÙekeâ Je=efæ

18. meeFkeâme keâer uekeâÌ[er ceW Meeefceue nQ:
(a) kesâkeue š^sefkeâ[dme
(b) kesâkeue JeeefnkeâeSW
(c) š^sefkeâ[dme Deewj JeeefnkeâeSW keâer meceeve mebKÙee
(d) keeefnefvekeâeDeeW keâer DeefOekeâ leLee keeefnkeâeDeeW keâer keâce



19. Cycas differs from Pteris in having
(a) Tracheids (b) Motile sperms

(c) Pollen tubes (d) Archegonia

20. Antherozoid are top shaped with
spiral bands of flagella in :
(a) Pinus (b) Cycas

(c) Ephedra (d) Gnetum

21. In which of the following features do
gymnosperms resemble angiosperms :
(a) Presence of vessels in the wood

(b) Mode of fertilization

(c) Nature of endosperm

(d) Presence of ovule

22. Endosperm in Gymnosperm is:
(a) Haploid (b) Diploid

(c) Triploid (d) Polyploid

23. Plant which produces Largest Sperm:
(a) Cycas (b) Pinus

(c) Lycopodium (d) Ephedra

24. How many cells present in the pollen
grain of Pinus at the time of pollination :
(a) One (b) Two

(c) Three (d) Four

25. Pinus is:
(a) Monoecious (b) Dioecious 

(c) Angiosperm (d) Fern

26. Paleozoic Era known as
(a) Era of Mosses and Horsetails

(b) Era of Origin of Earth

(c) Era of Marine green Algae

(d) Era of Algae

27. Plants are without roots in :
(a) Podostemon (b) Ivy

(c) Bryophyllum (d) Wolffia

28. Mycorrhiza is a symbiotic relationship 
between roots of Pinus and
(a) Algae

(b) Fungi

(c) Bacteria

(d) Ants
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19. meeFkeâme, heâve& mes efYeVe neslee nw
(a) š^sefkeâ[dme ceW (b) ceesšeFue Meg›eâeCeg ceW
(c) hejeie šŸetye ceW (d) Deeke&âieesefveÙee ceW

20. ueššg kesâ Deekeâej kesâ SvLesjespeesF[ heeÙes peeles nw
(a) heeFveme ces (b) meeFkeâme ces
(c) Sheâs[^e ces (d) vesšce ces

21. efvecveefueefKele ceW mes efkeâme efkeMes<elee ceW efpecveesmhece&
SefvpeÙeesmhece& mes efceueles pegueles nQ:
(a) uekeâÌ[er ceW JeeefnkeâeDeeW keâer GheefmLeefle
(b) efve<esÛeve keâer efkeefOe
(c) Sb[esmhece& keâer Øeke=âefle
(d) yeerpeeb[ keâer GheefmLeefle

22. efpecveesmhece& ceW YeÇtCehees<e nw:
(a) nwhueesF[ (b) ef[hueesF[
(c) ef$eiegefCele (d) yengiegefCele

23. meyemes ye[s Meg›eâeCeg efkeâme heewOes ceW heeÙes peeles nw?
(a) meeFkeâme (b) heeFveme
(c) ueeFkeâesheesef[Ùece (d) Sheâs[^e

24. hejeieCe kesâ meceÙe heeFveme kesâ hejeiekeâCe ceW efkeâleveer
keâesefMekeâeSB GheefmLele nesleer nQ :
(a) Skeâ (b) oes
(c) leerve (d) Ûeej

25. heeFveme nw:
(a) ceesveesefmeÙeme (b) ef[DeesefmeÙeme
(c) Deeke=leyeerpeer (d) ÌHeâve&

26. hesefueÙeespeesFkeâ Ùegie kesâ ™he ceW peevee peelee nw
(a) cee@me Deewj ne@me&šsue keâe Ùegie
(b) he=Lkeer keâer Glheefòe keâe Ùegie
(c) mecegõer nefjle Mewkeeue keâe Ùegie
(d) Mewkeeue keâe Ùegie

27. heewOes peÌ[ jefnle nesles nQ :
(a) hees[esmšscee@ve (b) DeeFkeer
(c) yeÇeÙeesefheâuece (d) keesefuheâÙee

28. ceeFkeâesjeFpee, heeFveme Deewj efkeâmekeâer peÌ[eW kesâ
yeerÛe Skeâ menpeerkeer mebyebOe nw
(a) Mewkeeue
(b) keâkekeâ
(c) yewkeäšerefjÙee
(d) ÛeeRefšÙeeW



29. Pneumatophores are specialized roots
of Rhizophora. They are :
(a) Positively geotropic

(b) Ageotropic

(c) Diageotropic

(d) Negatively geotropic

30. Scale leaves are also called :
(a) Hypsophylls (b) Sporophylls

(c) Cataphylls (d) Prophylls

31. Floral leaves are also called :
(a) Hypsophylls (b) Sporophylls

(c) Cataphylls (d) Prophylls

32. Parkinsonia is a good example of :
(a) Phylloclade

(b) Parachute mechanism

(c) Phyllode

(d) Winged fruits

33. The tissue whose cells are thin-walled
and more or less isodiametric and have 
intercellular spaces is known as :
(a) Collenchyma (b) Parenchyma

(c) Sclerenchyma (d) Cortex

34. Tracheae, tracheids, wood fiberes and
parenchymatous tissue are found in :
(a) Xylem (b) Phloem

(c) Medullary rays (d) Cortex

35. Phloem parenchyma, Sclerenchyma,
sieve tubes and companion cells are
found in:
(a) Xylem (b) Phloem

(c) Cambium  (d) Cortex

36. In which of the following mesophyll is
differentiated into palisade and
spongy tissue:
(a) A dicot leaf

(b) A monocot leaf

(c) Xerophytic stem

(d) A hydrophytic stem

37. In a leaf protoxylem faces :
(a) Upper epidermin

(b) Lower epidermis

(c) Centre of vascular bundles

(d) None of the above
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29. vÙetcesšesheâesj jeFpeesheâesje keâer efkeMes<e peÌ[W nQ~ kes nQ :
(a) mekeâejelcekeâ ™he mes efpeÙeesš^esefhekeâ
(b) SefpeÙeesš^esefhekeâ
(c) [eÙeefpeÙeesš^esefhekeâ
(d) vekeâejelcekeâ efpeÙeesš^e@efhekeâ

30. Meukeâ heefòeÙeeB keânueeleer nQ:
(a) neFheesefheâume (b) mheesjesefheâume
(c) keâwšeefheâume (d) Øeesefheâume

31. heg<heerÙe heefòeÙeeB keânueeleer nQ :
(a) neFheesefheâume (b) mheesjesefheâume
(c) keâwšeefheâume (d) Øeesefheâume

32. heeefke&âvmeesefveÙee Fmekeâe Skeâ DeÛÚe GoenjCe nw :
(a) ÌHeâeFueeskeäues[ (b) hewjeMetš leb$e
(c) heâeFuees[ (d) hebKe keeues heâue

33. ken Tlekeâ efpemekeâer keâesefMekeâeSB heleueer-efYeefòe
keeueer Deewj keâceesyesMe mecekÙeemeerÙe nesleer nQ Deewj
efpeveceW DeblejkeâesefMekeâerÙe mLeeve nesles nQ, keânueeles nQ:
(a) keâesuesvkeâeFcee
(b) hewjsvkeâeFcee
(c) mkeäuesjsvkeâeFcee
(d) keâe@š&skeäme

34. š^sefkeâÙee, keeefnefvekeâeSB, uekeâÌ[er kesâ levleg Deewj
hesjsvkeâeFcesšme Tlekeâ heeS peeles nQ:
(a) peeFuece ceW
(b) heäueesSce ceW
(c) ces[guejer efkeâjCeW ceW
(d) keâe@š&skeäme ceW

35. heäueesÙece hewjsvkeâeFcee, mkeäuesjsvkeâeFcee, Ûeeueveer
veefuekeâeSb Deewj menÛej keâesefMekeâeSb heeF& peeleer nQ:
(a) peeFuece ceW (b) heäueesSce ceW
(c) keâwefcyeÙece ceW (d) keâe@š&skeäme ceW

36. efvecveefueefKele ceW mes efkeâme cesmeesefheâue keâes hesueermes[
Deewj mhebpeer Tlekeâ ceW efkeYesefole efkeâÙee peelee nw:
(a) Skeâ efÉyeerpehe$eer heòeer
(b) Skeâyeerpehe$eer heòeer
(c) peerjesheâeFefškeâ levee
(d) Skeâ neF[^esheâeFefškeâ levee

37. Skeâ heòeer ceW ØeesšespeeFuece neslee nw:
(a) Thejer Sefhe[efce&me ceW
(b) efveÛeueer Sefhe[efce&me ceW
(c) mebkenveer yeb[ueeW keâe kesâbõ
(d) GheÙe&gòeâ ceW mes keâesF& Yeer mener veneR nw



38. Quiescent centre was discovered by :
(a) Clowes in maize root

(b) K.A. Wolf in shoot

(c) Nageli in shoot apex

(d) Steward

39. Who proposed apical cell theory :
(a) Nageli (b) Haistein

(c) Clowes (d) None of these

40. Duramen or heart wood is :
(a) Outer region of the secondary wood

(b) Inner region of the secondary wood

(c) Region of pericycle

(d) Another name of cambium

41. In a twenty year old dicot plant
growing in Shimla :
(a) The lower part of main stem will

show twenty annual rings

(b) Main stem and some lower lateral
branches will show twenty annual
rings

(c) All branches of the plant will show
twenty annual rings

(d) All of the above given statements
are wrong

42. The polysiphonous pollen grains are
present in
(a) Malvaceae

(b) Cucurbitaceae

(c) Both (a) and (b)

(d) None of these

43. Pollinia are found in :
(a) Calotropis (b) Maize

(c) Yucca (d) Polygonum

44. In some plants, pollen grains develop
into eight nucleate embryo sac like
structure. This is called :
(a) Nemac phenomenon

(b) Embryo sac phenomenon

(c) Additional embryo sac

(d) None of these

45. The microspore mother cells which
undergo meiosis is :
(a) Haploid (b) Diploid

(c) Triploid (d) Tetraploid
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38. Meeble kesâbõ keâer Keespe efkeâmekesâ Éeje keâer ieF& Leer:
(a) cekeäkeâe keâer peÌ[ ceW keäuee@Je Éeje
(b) leves ceW kesâ.S. yeguheâ Éeje
(c) veles kesâ Meer<e& ceW vesieueer Éeje
(d) mšerke[& Éeje

39. Meer<e& keâesefMekeâe efmeæeble efkeâmeves Øeefleheeefole efkeâÙee
Lee :
(a) vesieueer ves
(b) nsmšerve ves
(c) keäuee@Je ves
(d) FveceW mes keâesF& veneR

40. [Ÿetjecesve Ùee neš& keg[ nw :
(a) meskesâb[jerkeg[ keâe yeenjer #es$e
(b) meskesâC[jerJeg[ keâe Deebleefjkeâ #es$e
(c) hesjermeeFefkeâue keâe #es$e
(d) keâQefyeÙece keâe otmeje veece

41. yeerme meeue hegjevee efMeceuee ceW Gie jne efÉyeerpehe$eer
heewOee :
(a) cegKÙe leves keâe efveÛeuee efnmmee yeerme keeef<e&keâ

JeueÙe oMee&Ùesiee 
(b) cegKÙe levee Deewj kegâÚ efveÛeueer heeÕe& MeeKeeSb

yeerme keeef<e&keâ JeueÙe efoKeeSbieer
(c) heewOes keâer meYeer MeeKeeDeeW ceW yeerme keeef<e&keâ

JeueÙe efoKeeF& oWies
(d) Thej efoS ieS meYeer keâLeve ieuele nQ

42. hee@ueerefmeheâe@veme hejeiekeâCe GheefmLele nesles nQ
(a) ceeuekesmeer ceW (b) kegâkegâjefyešsmeer ceW
(c) oesveeW (a) Deewj (b) (d) FveceW mes keâesF& veneR

43. heesefueefveÙee heeS peeles nQ:
(a) keâwueesš^esefheme ceW (b) cekeäkeâe ceW
(c) Ùegkeäkeâe ceW (d) heesueerieesvece ceW

44. kegâÚ heewOeeW ceW, hejeiekeâCe Dee" kesâvõkeâ Ùegkeäle 
YeÇtCekeâesMe pewmeer nesleer nw~ Ùen keâne peelee nw:
(a) vescewkeâ Iešvee
(b) YeÇtCekeâesMe Iešvee
(c) Deefleefjòeâ YeÇtCekeâesMe
(d) FveceW mes keâesF& veneR

45. ceeF›eâesmheesj ceele= keâesefMekeâeSb pees DeOe&met$eer
efkeYeepeve mes iegpejleer nQ ken nw:
(a) nshueeF[ (b) ef[hueesF[
(c) efš^heueesF[ (d) šsš^ehueesF[



46. Microsporangium is also called as
(a) Male embryo sac

(b) Pollen sac

(c) Microsporophyll

(d) (a) and (b) both

47. Each anther has two anther lobes and
the number of microsporangia in
anther lobe is
(a) 1 (b) 4

(c) 2 (d) 3

48. The microscopic structure in flower
containing polar nuclei is :
(a) Gametophyte

(b) Pollen grain

(c) Polleu tube 

(d) Embryo sac

49. The point where funicle is attached to
ovule is called :
(a) Chalaza (b) Micropyle

(c) Nucellus (d) Hilum

50. Embryo sac is called monosporic when 
it develops from :
(a) All the four megaspore

(b) Only from two functional
megaspore

(c) Three megaspores

(d) One of the megaspores out of the
four megaspores which are derived
from meiotic division of megaspore
mother cell

51. A typical angiospermic embryo sac is
usually:
(a) One-celled (b) Two-celled

(c) Five-celled (d) Seven-celled

52. Synergids destroy before the entry of
pollen tube in :
(a) Plumbago

(b) Yucca

(c) Nelumbo

(d) Both (a) and (c)
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46. ueIegyeerpeeCegOeeveer keânueeleer nw
(a) vej YeÇtCe keâesMe
(b) hejeie keâesMe
(c) ceeF›eâesmheesjesefheâue
(d) (a) Deewj (b) oesveeW

47. ØelÙeskeâ hejeiekeâes<e ceW oes heeueerÙeeB nesleer nQ Deewj ØelÙeskeâ
heeueer ceW ceeF›eâesmheesjbefieÙee keâer mebKÙee nesleer nw
(a) 1 (b) 4
(c) 2 (d) 3

48. heg<he ceW heesuej kesâvõkeâ keâes OeejCe keâjves Jeeueer met#ce
mebjÛevee nesleer nw:
(a) iewcesšesheâeFš (b) hejeie keâCe
(c) hejeie veefuekeâe (d) YeÇtCe keâesMe

49. ken efyebog peneb yeerpeeb[ mes yeerpeeb[ pegÌ[e neslee nw,
keânueelee nw :
(a) Ûeueepee
(b) ceeF›eâesheeFue
(c) vÙegmesueme
(d) efnuece

50. YeÇtCekeâes<e keâes ceesveesmheesefjkeâ keâne peelee nw peye Ùen
efkekeâefmele neslee nw:
(a) meYeer Ûeej cesieemheesj mes
(b) kesâkeue oes keâeÙee&lcekeâ cesieemheesj mes
(c) leerve cesieemheesj mes
(d) Ûeej ieg®yeerpeeCegDeeW ceW mes Skeâ ieg®yeerpeeCeg pees 

ieg®yeerpeeCeg ceele= keâesefMekeâe kesâ
DeOe&met$eerefkeYeepeve mes Øeehle neslee nw

51. Skeâ efkeefMe<š SbefpeÙeesmheefce&keâ YeÇtCe keâesMe Deeceleewj
hej nesleer nw:
(a) Skeâ-keâesefMekeâe
(b) oes-keâesefMekeâe
(c) heebÛe keâesefMekeâe
(d) meele keâesefMekeâe

52. efmeveefpe&[me hejeie veefuekeâe ces ØekesMe mes henues ve<š
nes peeles nQ :
(a) huebyewiees ceW
(b) Ùegkeäkeâe ceW
(c) vesuegcyees ceW
(d) oesveeW (a) Deewj (c)



53. Heterofertilization means :
(a) Fusion of one male gamete with

egg cell and other with secondary
nucleus

(b) Fusion of one male gamete of one
pollen grain with egg cell and other
male gamete of other pollen grain
with secondary nucleus

(c) Fusion of both male gametes with
egg cell

(d) Fusion of both male gamete with
secondary nucleus

54. In the Angiosperms, unique process is
observed. This is :
(a) Double Fusion

(b) Single Fusion and Double Fertilization

(c) Triple Fusion

(d) Double Fertilization

55. The development of embryo in
Capsella is endoscopic. It means :
(a) embryo develops from the chalazal

half of the zygote

(b) embryo develops from the
micropylar half of the zygote

(c) embryo has suspensor on either
side

(d) suspensor is absent

56. Early development of monocot and
dicot embryo is similar up to :
(a) diad stage (b) quadrant stage

(c) octant stage (d) globular stage

57. If the number of chromosomes in the
egg cell of a plant is 8, then what would
be the number of chromosomes in its
endosperm? 
(8) 8 (b) 16

(c) 24 (d) 12

58. Xenia and metaxenia can be best
illustrated in :
(a) Maize 

(b) Wheat

(c) Strawberry

(d) Myristica
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53. nsšsjesheâefš&ueeFpesMeve keâe DeLe& nw:
(a) Skeâ vej Ùegicekeâ keâe DeC[ keâesefMekeâe keâer

keâesefMekeâe kesâ meeLe Deewj otmejs keâe efÉleerÙekeâ
veeefYekeâ kesâ meeLe mebueÙeve

(b) DeC[ keâesefMekeâe kesâ meeLe Skeâ hejeie keâCe kesâ
vej Ùegicekeâ keâe mebueÙeve Deewj efÉleerÙekeâ
veeefYekeâ kesâ meeLe DevÙe hejeie keâCe kesâ vej
Ùegicekeâ keâe mebueÙeve

(c) oesveeW vej ÙegicekeâeW keâe Deb[eCeg kesâ meeLe
mebueÙeve

(d) efÉleerÙekeâ veeefYekeâ kesâ meeLe oesveeW vej Ùegicekeâ
keâe mebueÙeve

54. SbefpeÙeesmhece& ceW, Devet"er Øeef›eâÙee osKeer peeleer nw~ Ùen
nw 
(a) [yeue heäÙetpeve
(b) efmebieue heäÙetpeve Deewj [yeue heâefš&ueeFpesMeve
(c) efmebieue heäÙetpeve
(d) efÉefve<esÛeve

55. kewâhmesuee ceW YeÇtCe keâe efkekeâeme Fb[esmkeâesefhekeâ nw~
Fmekeâe celeueye nw :
(a) YeÇtCe peeFieesš kesâ Ûeeueepee kesâ DeeOee Yeeie mes

efkekeâefmele neslee nw
(b) YeÇtCe peeFieesš kesâ ceeF›eâesheeFuej kesâ DeeOes mes

efkekeâefmele neslee nw
(c) YeÇtCe ceW efveuebyekeâ oesveeW lejheâ neslee nw
(d) efveuebyekeâ DevegheefmLele nw

56. Skeâyeerpehe$eer Deewj efÉyeerpehe$eer YeÇtCe keâe ØeejbefYekeâ
efkekeâeme meceeve neslee nw:
(a) [eÙe[ ÛejCe lekeâ (b) ÛelegYe&gpe ÛejCe lekeâ
(c) Dee@keäšWš ÛejCe lekeâ (d) ieesueekeâej ÛejCe lekeâ

57. Ùeefo efkeâmeer heewOes keâer DeC[eCeg ceW iegCemet$eeW keâer
mebKÙee 8 nw, lees Gmekesâ YeÇtCehees<e ceW iegCemet$eeW keâer
mebKÙee efkeâleveer nesieer?
(a) 8 (b) 16

(c) 24 (d) 12

58. pesefveÙee Deewj cesšepesefveÙee keâes meyemes DeÛÚs lejerkesâ
mes osKee pee mekeâlee nw:
(a) cekeäkeâe ceW (b) iesntb ceW
(c) mš^e@yesjer ceW (d) efceefjefmškeâe ceW



59. Development of gametophyte from
sporophyte without meiosis is called
(a) apogamy (b) apospory

(c)  parthenocarpy (d) parthenogenesis

60. Development of sporophyte from
gametophyte without fertilization is
called:
(a) apospory (b) apogamy

(c) apomixis (d) parthenogenesis

61. In heterosporous pteridophytes the
development of gametophyte is :
(a) Exosporic (b) Endosporic

(c) Both (a) and (b) (d) None of these

62. Ligulate leaves are found in :
(a) Lycopodium (b) Selaginella 

(c) Pteridium (d) Nephrolepis

63. Only one megasporangium found in
strobillus of Selaginella :
(a) S. nephralepis (b) S. kraussiana

(c) S. inequaIifalea (d) S. lepidophylla

64. Haploid endosperm is found in:
(a) Pteridophyte (b) Gymnosperm

(c) Angiosperm (d) Bryophyte

65. The origin of Psilopsids, lycopsida,
Sphenopsids, ferns and seed plants
occurs in:
(a) Devonian period

(b) Cambrian period

(c) D. D. Pant

(d) T. S. Mahabale

66. Coal beds are fossilized forms of:
(a) Lycopods and fern

(b) Gymnosperm

(c) Tree Lycopods and Cycads

(d) Ancient Angiosperms

67. Haustoria are found in :
(a) Orchids

(b) Tinospora

(c) Cuscuta and Lorenthus

(d) Betel
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59. DeOe&met$eerefkeYeepeve kesâ efyevee yeerpeeCegoefYeo mes
ÙegicekeâesoefYeo keâe efkekeâeme keânueelee nw
(a) Sheesiewceer (b) Deheesmheesjer
(c) heeLe&sveeskeâeheer& (d) heeLe&sveespesvesefmeme

60. efve<esÛeve kesâ efyevee ÙegicekeâesoefYeo mes yeerpeeCegefYeo
keâe efkekeâeme keânueelee nw:
(a) Sheesmheesjer (b) Sheesiewceer
(c) Sheesefceefkeämeme (d) heeLe&sveespesvesefmeme

61. nsšsjesmheesjme šsefj[esheâeFšdme ceW iewcesšesheâeFš keâe
efkekeâeme neslee nw:
(a) Skeämeesmheesefjkeâ
(b) Sb[esmheesefjkeâ
(c) oesveeW (a) Deewj (b)

(d) FveceW mes keâesF& veneR

62. efueieguesš heefòeÙeeB heeÙeer peeleer nQ :
(a) ueeFkeâesheesef[Ùece ceW
(b) mesueeefpevesuee ceW
(c) šsefjef[Ùece ceW
(d) vesØeâesuesefheme ceW

63. mesueeefpevesuee kesâ mš^esefyeueme ceW kesâkeue Skeâ
oerIe&yeerpeeCegOeeveer heeF& peeleer nw:
(a) Sme øeâesuesefheme (b) Sme ›eâtefmeÙeevee
(c) Sme FveFkeäJesefueme (d) Sme uesefhe[esefheâuee

64. nwhueesF[ Sb[esmhece& heeÙee peelee nw:
(a) šsefj[esheâeFš ceW (b) efpecveesmhece& ceW
(c) SbefpeÙeesmhece& ceW (d) yeÇeÙeesheâeFš ceW

65. meeFueesefhme[dme, ueeFkeâesefhme[e, mheâsveesefhme[dme,
Heâve& Deewj yeerpeÙe heewOeeW keâer Glheefòe nesleer nw:
(a) [skeesefveÙeve keâeue (b) keâwefcyeÇÙeve keâeue
(c) [er.[er. heble (d) šer.Sme. ceneyeues

66. keâesÙeuee mebmlej efvecve kesâ peerkeeMce ™he nQ:
(a) ueeFkeâeshees[dme Deewj heâve&
(b) efpecveesmhece&
(c) š^er ueeFkeâeshees[dme Deewj meeFkeâw[dme
(d) ØeeÛeerve SbefpeÙeesmhece&

67. nmšesefjÙee heeS peeles nQ:
(a) Dee@efke&â[
(b) šerveesmheesje
(c) kegâmkegâše Deewj ueesjsvLeme
(d) yeeršue



68. Root hairs occur in the :
(a) Root cap

(b) Region of cell elongation

(c) Apical meristem

(d) Region of maturation

69. Leaves in Opuntia are modified into :
(a) Spines (b) Tendrils

(c) Flowers (d) Roots

70. Buds are typically formed :
(a) At the apex of shoot and root

(b) In the axil of leaves and at the apex 
of branches

(c) In the axil of leaves only

(d) At the margin of leaves only

71. The sieve tubes have :
(a) Apical and oblique plates

(b) Perforated and longitudinal plates

(c) Perforated oblique septa

(d) Simple oblique walls

72. The three zones dermatogen, periblem
and plerome canbe recognised in :
(a) Root apex 

(b) Leaf apex

(c) Primary xylem 

(d) Secondary xylem

73. The food in plants is stored in
(a) Chlorenchyma (b) Collenchyma

(c) Parenchyma (d) Sclerenchyma

74. The lateral meristem is responsible for
:
(a) Growth in length

(b) Growth in parenchyma

(c) Growth in thickness

(d) Growth in cortex

75. Root apex differs from stem apex in :
(a) Having plerome

(b) Having dermatogen

(c) Having periblem

(d) Having root cap
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68. cetuejesce nesles nQ :
(a) ™š keâwhe
(b) oerIeeakeâjCe keâe #es$e
(c) Sefhekeâue cesefjmšsce
(d) heefjhekeäkelee keâe #es$e

69. DeeshebefšÙee ceW heefòeÙeeW ™heebleefjle nesleer nw:
(a) keâebšeW ceW (b) Øeleeve ceW
(c) heâtue ceW (d) peÌ[ ceW

70. keâefuekeâeSW Deeceleewj hej yeveles nQ:
(a) levee Deewße peÌ[ kesâ Meer<e& hej
(b) heefòeÙeeW keâer Sefkeämeue ceW Deewj MeeKeeDeeW kesâ

Meer<e& hej
(c) kesâkeue heefòeÙeeW keâer Sefkeämeue ceW
(d) kesâkeue heefòeÙeeW kesâ efkeâveejs hej

71. Ûeueveer veefuekeâeDeeW ceW nw:
(a) Sefhekeâue Deewj eflejÚer huesšW
(b) efÚefõle Deewj DevegowOÙe& huesšW
(c) efÚefõle eflejÚe meshše
(d) mejue eflejÚer oerkeejW

72. leerve peesve [ce&sšespesve, hesefjyesuece Deewj huesjesce ceW
henÛeeves pee mekeâles nQ:
(a) ™š Sheskeäme
(b) ueerheâ Sheskeäme
(c) ØeeLeefcekeâ peeFuece
(d) efÉleerÙekeâ peeFuece

73. heewOeeW ceW Yeespeve mebefÛele neslee nw
(a) keäueesjsvkeâeFcee ceW (b) keâesuesvkeâeFcee ceW
(c) hewjsvkeâeFcee ceW (d) mkeäuesjsvkeâeFcee ceW

74. heeÕe& cesefjmšsce Fmekesâ efueS efpeccesoej nw:
(a) uebyeeF& ceW ke=efæ
(b) hewjsvkeâeFcee ceW ke=efæ
(c) ceesšeF& ceW ke=efæ
(d) ØeeblemLee ceW ke=efæ

75. cetue Meer<e& levee Meer<e& mes efvecve ceW efYeVe neslee nw :
(a) huesjesce
(b) [cee&šespesve
(c) hesefjyuesce
(d) cetue ieeshe
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Answers

1. (b) 2. (b) 3. (a) 4. (c) 5. (c) 6. (b) 7. (a) 8. (c) 9. (a) 10. (c)

11. (b) 12. (d) 13. (d) 14. (b) 15. (c) 16. (b) 17. (b) 18. (a) 19. (c) 20. (b)

21. (d) 22. (a) 23. (a) 24. (d) 25. (a) 26. (a) 27. (d) 28. (b) 29. (d) 30. (c)

31. (b) 32. (c) 33. (b) 34. (a) 35. (b) 36. (a) 37. (a) 38. (a) 39. (a) 40. (b)

41. (b) 42. (c) 43. (a) 44. (a) 45. (b) 46. (b) 47. (c) 48. (d) 49. (d) 50. (d)

51. (a) 52. (d) 53. (b) 54. (d) 55. (a) 56. (d) 57. (c) 58. (a) 59. (b) 60. (b)

61. (b) 62. (b) 63. (b) 64. (b) 65. (a) 66. (b) 67. (c) 68. (d) 69. (a) 70. (b)

71. (b) 72. (a) 73. (c) 74. (c) 75. (d)
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